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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F&C)  DEGREE 
EXAMINATION, MAY 2024 

First Semester 

MANAGEMENT CONCEPTS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term management. 

 ÷©»õsø© GÝ® £uzøu Áøμ¯ÖUP. 

2. Define the term Planning. 

 vmhªkuÀ GÝ® £uzøu Áøμ¯ÖUP. 

3. What is meant by decision making? 

 •iöÁkzuÀ GßÓõÀ GßÚ? 

4. What is meant by decentralisation? 

 £μÁ»õUP® £ØÔ AÔÁx GßÚ? 

5. What is span of control? 

 Pmk¨£õmk GÀø» GßÓõÀ GßÚ? 

6. What is meant by communication? 

 uPÁÀ öuõhº¦ Gß£uß ö£õ¸Ò ¯õx? 

7. What is meant by Leadership? 

 uø»ø©zxÁ® £ØÔ AÔÁx GßÚ? 
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8. Define the term directing. 

 C¯USÂzuÀ GÝ® £uzøu Áøμ¯ÖUP. 

9. Define Management Audit. 

 ÷©»õsø© uoUøPø¯ Áøμ¯ÖUP. 

10. What do you mean by TQM? 

 TQM £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choose either (a) or (b). 

11. (a) Briefly explain the importance of management. 

  ÷©»õsø©°ß •UQ¯zxÁzøu _¸UP©õP 
ÂÍUSP. 

Or 

 (b)  Briefly explain the various types of policies. 

  öPõÒøP°ß £À÷ÁÖ ÁøPPøÍ _¸UP©õP ÂÁ›UP. 

12. (a) Briefly explain the various types of managerial 
decisions. 

  ÷©»õsø© •iöÁkzu¼ß £À÷ÁÖ ÁøPPøÍ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) What are the principles of departmentation? 

  xøÓ©¯©õUPzvß ÷Põm£õkPÒ ¯õøÁ? 

13. (a) What are the obstacles to delegation? 

  J¨£øhÂØPõÚ uøhPÒ ¯õøÁ? 

Or 

 (b) State the functions of a leader. 

  J¸ uø»ø© HØ£Á›ß £oPøÍ TÖP. 
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14. (a) Distinguish between formal and informal 
communication. 

  •øÓ¯õÚ ©ØÖ® •øÓ¯ØÓ uPÁÀ öuõhº¤øÚ 
÷ÁÖ£kzxP. 

Or 

 (b) Explain the importance of co-ordination. 

  J¸[Qøn¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

15. (a) What are the principles of business ethics? 

  ÁoP ö|Ô•øÓPÎß ÷Põm£õkPÒ ¯õøÁ? 

Or 

 (b) Write short notes on strategic alliance. 

  ~m£Â¯À CønÄ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various stages in the history of management 
thought. 

 ÷©»õsø©a ]¢uøÚ Áμ»õØÔ £À÷ÁÖ £i{ø»PøÍ 
ÂÍUSP. 

17. Describe the various process of decision making. 

 •iöÁkzu¼ß £À÷ÁÖ ö\¯À•øÓPøÍ ÂÁ›UP. 

18. Explain the principles of organization in detail. 

 Aø©¨¤ß öPõÒøPPøÍ Â›ÁõP ÂÍUSP. 

19. Explain the different types of leadership styles in brief. 

 uø»ø©zxÁzvß £À÷ÁÖ ÁøP¯õÚ £oPøÍ 
_¸UP©õP ÂÁ›UP. 

20. Discuss the advantages of management audit. 

 ÷©»õsø© uoUøP°ß |ßø©PøÍ ÂÁõvUP. 

–––––––––––––– 
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DISTANCE EDUCATION 

M.Com. (Finance and Control) DEGREE EXAMINATION, 
MAY 2024. 

First Semester 

BUSINESS LAW  

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Mercantile law. 

2. State : Consideration. 

3. Who are lunatics? 

4. What are the bilateral mistake? 

5. Define a contract of guarantee. 

6. Difference between bailment and pledge. 

7. Define Joint Hindu Family. 

8. Draw Cheque. 

9. What is promissory note? 

10. What do you mean by dissolution of firm? 

Sub. Code 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Difference between voidable contract a void 

agreement. 

Or 

 (b)  Difference between wagering agreement and 

contingent contract. 

12. (a) Exception for contract without consideration. 

Or 

 (b)  Explain persons of unsound mind.  

13. (a) Explain the rights of Bailor and Bailee. 

Or 

 (b)  Explain the remedies of breach of contract. 

14. (a) Explain the types of damages. 

Or 

 (b)  Explain the mode of dissolution. 

15. (a) Explain the classification of goods. 

Or 

 (b)  Explain the kinds of Bailment. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the capacity of contract. 

17. Describe the kinds of Reciprocal promises. 

18. Explain the rights of Bailor and Bailee. 

19. Explain the discharge of contract. 

20. Explain the difference between sale and agreement sell. 

———————— 



  

D–4614      

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F&C) DEGREE 
EXAMINATION, MAY 2024. 

First Semester 

ADVANCED ACCOUNTING  

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions 

1. What is Book Keeping? 

 PnUS øÁ¨¦ GßÓõÀ GßÚ? 

2. What is Posting? 

 GkzöuÊxuÀ GßÓõÀ GßÚ? 

3. What is Trading account? 

 Â¯õ£õμ PnUS GßÓõÀ GßÚ? 

4. What is average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

5. What is Bank Reconciliation Statement? 

 Á[Q \›Pmk® £mi¯À GßÓõÀ GßÚ? 

6. What is income and expenditure account? 

 Á¸Áõ´ ö\»ÂÚ PnUS GßÓõÀ GßÚ? 

Sub. Code 
31013/33513
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7. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

8. What is meant by Short Workings? 

 SøÓ EØ£zv £ØÔ AÔÁx GßÚ? 

9. State any two objects of keeping branch accounts? 

 QøÍU PnUøP øÁzv¸¨£vß ÷|õUP[PÒ H÷uÝ® 
Cμsk TÖP. 

10. Define the term Hire Purchase. 

 ÁõhøP öPõÒ•uÀ GÝ® £uzøu Áøμ¯ÖUP.  

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Explain the various types of accounting concepts. 

  PnUQ¯À ÷Põm£õmiß £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Distinguish between Journal and Ledger. 

  SÔ¨÷£k ©ØÖ® ÷£÷μmøh ÷ÁÖ£kzxP. 

12. (a) Prepare Trial Balance from the following 
information: 

Particulars Rs. Particulars Rs. 

Capital 9,000 Rent Outstanding 1,000

Plant and 
Machinery 

12,000 Opening Stock 2,000

Purchases 8,000 Sales Returns 4,000

Sales 12,000 Investment 14,000

Creditors 8,000 Debtors 12,000

Bank Loan 22,000  
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C¸¨¦ ÷\õuøÚø¯ 
u¯õ›UP: 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

•uÀ 9,000 öPõk£h÷Ási¯ 
ÁõhøP 

1,000

ö£õÔ ©ØÖ® 
C¯¢vμ® 

12,000 öuõhUP \μUQ¸¨¦ 2,000

öPõÒ•uÀ 8,000 ÂØ£øÚ v¸¨£® 4,000

ÂØ£øÚ 12,000 •u½kPÒ 14,000

PhÜ¢÷uõºPÒ 8,000 PhÚõÎPÒ 12,000

Á[Q Phß 22,000  

Or 

 (b) Rectify the following errors: 

  (i) Purchase book is overcast by Rs.3,000 

  (ii) Sales book has been under cast by Rs.2,600 

  (iii) Purchase return book has been overcast by 
Rs.300 

  (iv) Sales return book has been under cast by 
Rs.350 

  ¤ßÁ¸® ¤øÇPøÍ v¸zxP: 

  (i) öPõÒ•uÀ HhõÚx ¹.3,000 AvP©õP 
Tmh¨£mkÒÍx. 

  (ii) ÂØ£øÚ HhõÚx ¹.2,600 SøÓÁõP 
Põmh¨£mkÒÍx. 

  (iii) öPõÒ•uÀ v¸¨£ Hk ¹.300 AvP©õP 
Tmh¨£mkÒÍx. 

  (iv) ÂØ£øÚ v¸¨£ Hk ¹.350 SøÓÁõP 
Tmh¨£mkÒÍx. 
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13. (a) Find out the average due date of the following bills 
accepted by a trader who wishes to settle them with 
one single payment. 

Date of Bill Amount of Bill Due Date

March 15 Rs.1,000 18 April 

April 21 Rs.1,500 24 May 

April 27 Rs.500 30 June 

May 15 Rs.600 18 July 

  J÷μ uÁøn°À Áõ[Q¯ öuõøPø¯ v¸®£ ö\¾zu 
Â¸®¦® J¸ ÁoPμõÀ HØÖUöPõÒÍ¨£mh 
¤ßÁ¸® ©õØÖa^mkUS \μõ\› uÁøn |õøÍU 
PnUQkP. 

©õØÖa^miß 
÷uv 

©õØÖa^miß 
öuõøP 

•vºÄ 
÷uv 

©õºa 15 ¹.1,000 18 H¨μÀ 

H¨μÀ 21 ¹.1,500 24 ÷© 

H¨μÀ 27 ¹.500 30 áüß 

÷© 15 ¹.600 18 áüø»

Or 

 (b) The Bank Overdraft of Mr. Sudhakar on 31-12-2018 
as Cash Book is Rs.9,000. 

  From the following particulars, prepare bank 
reconciliation statement: 

  (i) Unpresented cheques Rs.5,000 

  (ii) Uncleared cheques Rs.2,700 

  (iii) Bank interest debited in the pass book only 
Rs.500 

  (iv) Bills collected and credited in the pass book 
only Rs.800 

  (v) Cheque of Ashok dishonoured Rs.500 

  (vi) Cheque issued to Sagar entered in the cash 
column of the cash book Rs.300 
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  31&12&2018 AßÖ v¸. _uõPº Gß£Á›ß öμõUP 

Hmiß £i ÷©ÀÁøμ¨£ØÖ ¹.9,000. ¤ßÁ¸® 

Â£μ[PÎ¼¸¢x Á[Q \›Pmk® £mi¯ø» u¯õ›UP. 

  (i) \©º¨¤UP£hõu Põ÷\õø»PÒ ¹.5,000 

  (ii) Á`¼UPõu Põ÷\õø»PÒ ¹.2,700 

  (iii) Á[Q ö\À÷»miÀ ©mk® £ØÖ 
øÁUP¨£mkÒÍ Á[Q Ámi ¹.500 

  (iv) Á[Q ö\À÷»miÀ ©mk® Á`»õUP¨£mk 
ÁμÄ øÁUP¨£mh Esi¯À ¹.800 

  (v) A÷\õUQß Põ÷\õø» AÁ©vUP¨£mhx ¹.500 

  (vi) \õP¸US Âkzu Põ÷\õø» öμõUP Hmiß 
öμõUP £zv°À £vÄ ö\´¯¨£mhx ¹.300 

14. (a) A & Co. of Tirunelveli consigned 1,000 radios at 
Rs.700 each to B & Co. of Madurai. The consignors 
paid freight Rs.750, cartage Rs.50 and insurance 
Rs.200. B & Co. received 900 radios only and 
incurred the following expenses: Octroi and other 
expenses Rs.1,000; Cartage Rs.800; Selling 
expenses Rs.600. The consignee sold 600 radios 
only. You required to find out the value of closing 
stock. 

  v¸ö|À÷Á¼°¾ÒÍ A & ÷Põ ©xøμ°¾ÒÍ    
B & ÷PõÂØS JßÖ ¹.700 Ãu® 1,000 ÁõöÚõ¼ 
ö£miø¯ AÝ¨¥k ö\´ux. AÝ¨¥k ö\´uvØPõP 
¹.750® yUS E›ø©US ¹.50® Põ¨¥mkUPõP 
¹.200® ö\»Ä ö\´ux. B & ÷Põ 900 ÁõöÚõ¼ 
ö£miø¯ ©mk® ö£ØÓx ©ØÖ® ¤ßÁ¸® 
ö\»ÄPøÍ ö\´ux:  G›ÁÎ ©ØÖ® Cuμ 
ö\»ÂÚ[PÒ ¹.1,000•®, yUS T¼ ¹.800® 
ÂØ£øÚ ö\»ÂÚ[PÒ ¹.600 BS®. AÝ¨¥k 
ö£Ö|º 600 ÁõöÚõ¼ ö£miø¯ ©mk® ÂØ£øÚ 
ö\´ux.  CÖv \μUQ¸¨¤ß ©v¨ø£ }Âº PõsP. 

Or 
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 (b) What do you mean by recoupment of short working? 
Explain its types. 

  SøÓ EØ£zv «m¦ GßÓõÀ GßÚ? CuÝøh¯ 
¤›ÄPøÍ ÂÍUSP. 

15. (a) Raman Departmental stores has two departments  
A and B. from the following, prepare departmental 
trading accounts. 

  Purchases:   

  




 units 2000B Department
units 1000 ADepartment

Total Cost of Rs.1,10,000 

  Opening Stock: 

  




 units 006B Department
units 004 ADepartment

 

  Sales: 

  




unitper  Rs.45  @units 2100B Department
unitper  Rs.75  @units 009 ADepartment

 

  Assume the G.P. rate is uniform for both the 
departments. 

  μõ©õ xøÓÁõ› £shP\õø»°À Cμsk xøÓPÒ 
EÒÍÚ. •øÓ÷¯ A ©ØÖ® B, ¤ßÁ¸ÁÚÁØøÓ 
öPõsk xøÓÁõ› Â¯õ£õμU PnUS u¯õ›UPÄ®. 

  öPõÒ•uÀ :  
    xøÓ A  : 1,000 A»SPÒ 
    xøÓ B  : 2,000 A»SPÒ 
  Bμ®£ \μUS :  
    xøÓ A  : 400 A»SPÒ 
    xøÓ B  :  600 A»SPÒ 
    ÂØ£øÚ :    

    xøÓ A  : 900 A»SPÒ @ ¹.75 J¸ A»S 

    xøÓ B  :  2100 A»SPÒ @ ¹.45 J¸ A»S 

ö©õzu »õ£® Ãu® AøÚzx xøÓPÎÀ \©® GÚU 
öPõsk xøÓÁõ› Â¯õ£õμU PnUS u¯õº ö\´P. 

Or  

ö©õzu Âø» ¹.1,10,000
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 (b) From the H.O at Chennai goods were invoiced to 
branch at Salem at cost plus 20%. From the 
following particulars prepare branch account in H.O  
books. 

 Rs.  Rs. 

Goods sent to Branch 2,11,872 Branch Debtors on 
1.1.2016 

24,000

Total Sales 2,06,400 Branch Stock on 
1.1.2016 

7,680

Cash Sales 1,10,400 Branch Stock on 
31.12.2016 

13,440

Cash received from 
branch debtors 

88,000   

  ö\ßøÚ uø»ø© A¾Á»Pzv¼¸¢x ÷\»® 
QøÍUS \μUSPÒ AhUPÂø»°À 20%  ÷\ºzx 
£mi¯¼h¨£kQÓx. RÌUPsh Â£μ[PÎÀ C¸¢x 
uø»ø© A¾Á»P ¦zuPzvÀ QøÍU PnUøP u¯õº 
ö\´P. 

 ¹.  ¹. 

QøÍUS \μUS 
AÝ¨¤¯x 

2,11,872 1.1.2016À QøÍ 
PhÚõÎPÒ 

24,000

ö©õzu ÂØ£øÚ 2,06,400 1.1.2016À  
\μUS 

7,680

öμõUP ÂØ£øÚ 1,10,400 31.12.2016À 
QøÍ \μUS 

13,440

QøÍU 
PhÚõÎPÎhª¸¢x 
ö£ØÓ öμõUP® 

88,000   
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 
16. Distinguish between single entry system a double entry 

system. 
 JØøÓ £vÄ •øÓ ©ØÖ® Cμmøh £vÄ •øÓø¯ 

÷ÁÖ£kzxP. 
17. A small trader does not maintain proper books of account. 

From the following information prepare trading and 
profit and loss account for the year ended 31st December 
2018 and balance sheet as on that date. 

 31.12.2017
(Rs.) 

31.12.2018
(Rs.) 

Debtors 9,000 12,500

Stock 4,900 6,600

Furniture 500 750

Analysis of other transactions: Rs.

Cash collected from debtors 30,400

Cash paid to creditors 22,000

Salaries 6,000

Rent 750

Office expenses 900

Drawings 1,500

Fresh capital introduced 1,000

Cash sales  750

Cash purchases  2,500

Discount received  350

Discount allowed  150

Returns inwards  500

Return outwards  400

Bad debts  100

New furniture purchased  250

 He had Rs.2,500 cash at the beginning of the year. 
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 J¸ ]Ô¯ Â¯õ£õ› uÚx HkPøÍ •øÓ¯õP 
£μõ©›UPÂÀø». ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.12.2018 
AßÖ •iÄÖ® Â¯õ£õμ C»õ£ |mhU PnUS ©ØÖ® 
C¸¨¦{ø»U SÔ¨ø£ u¯õ›UP. 

 31.12.2017
(¹.) 

31.12.2018
(¹.) 

PhÚõÎPÒ 9,000 12,500

\μUQ¸¨¦ 4,900 6,600

AøÓP»ß 500 750

Cuμ |hÁiUøPPÎß öuõS¨¦: 

 ¹.

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 30,400

PhÜ¢÷uõ¸US ö\¾zv¯ öμõUP® 22,000

\®£Í® 6,000

ÁõhøP 750

A¾Á»P ö\»ÂÚ[PÒ 900

Gk¨¦ 1,500

TkuÀ •uÀ Cmhx 1,000

öμõUP ÂØ£øÚ  750

öμõUP öPõÒ•uÀ  2,500

ö£ØÓ uÒÐ£i  350

AÎzu uÒÐ£i  150

EÒ v¸¨£®  500

öÁÎ v¸¨£®  400

ÁμõUPhß  100

¦v¯ AøÓP»ß Áõ[Q¯x  250

 Bskz öuõhUPzvÀ AÁº ¹.2,500 öμõUP® 
øÁzv¸¢uõº. 
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18. Mr. Ram draw a bill for Rs. 15,000 on Mr. Gopal on  
1st January payable three months after date at Canara 
Bank, Tirunelveli. The bill after acceptance is discounted 
by Ram at 6% p.a. and he remits 1/3 of the proceeds to 
Gopal. On the due date Ram sends the necessary amount 
to Gopal who meets the bill. Record these transactions in 
the journal of both the parties. 

 áÚÁ› 1&® ÷uv¯ßÖ ‰ßÖ ©õu[PÒ PÈzx 
v¸ö|À÷Á¼°¾ÒÍ PÚμõ Á[Q°À ö\¾zuuUP 
ÁøP°À ¹.15,000 ©v¨¦ÒÍ ©õØÖa ^møh v¸. ÷Põ£õÀ 
«x v¸. μõ® Gß£Áº GÊvÚõº. ¤ßÚº A¢u ©õØÖa 
^møh HØÓ ¤ÓS Bsk JßÖUS 6% uÒÐ£i°À 
Á[Q°À μõ® Gß£Áº Ámh® ö\´uõº. ¤ßÚº AvÀ 1/3 
£[øP ÷Põ£õ¾US ö\¾zvÚõº. •vºÄ |õÎÀ ÷Põ£õÀ 
Gß£Áº ©õØÖa^møh GvºöPõÒÐ® ö£õ¸mk v¸.μõ® 
Gß£Áº ÷£õx©õÚ öuõøPø¯ AÝ¨¤Úõº. CÁ¸øh¯ 
SÔ¨÷£mi¾® C¢u |hÁiUøPPøÍ £vÄ ö\´P.  

19. Mr. Ram wrote a book on statistical and got its published 
with M/S Pass Publishers on terms that royalties will be 
paid @ Rs.5 per copy sold subject to a minimum rent of 
Rs. 15,000 with a right of recoupment of short working 
over the first three years of the royalty agreement. 

Year No. of Copies Printed Closing Stock

2017 4,000 200 

2018 6,000 400 

2019 8,000 800 

2020 10,000 1,000 

  Prepare royalty account for first three years. 
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  v¸. μõ® Gß£Áº J¸ ¦ÒÎ°¯À ¦zuPzøu GÊv 

Aøu £õì £v¨£P® Áõ°»õP öÁÎ°mhõº. 

SzuøP 1 ¤μvUS ¹.5 Ãu® SøÓ¢u£m\ SzuøP 

¹.15,000&® SøÓ EØ£zvø¯ •uÀ ‰ßÖ 

BskPÎÀ «mkU öPõÒÍ»õ®.  

Á¸h® Aa\izu ¤μvPÎß 

GsoUøP 

CÖv \μUS 

2017 4,000 200 

2018 6,000 400 

2019 8,000 800 

2020 10,000 1,000 

  SzuøP PnUS •uÀ ‰ßÖ BskUS u¯õ›UP. 

20. Kumar purchased a machine on Hire Purchase System on 

1st January 2018. The terms of payment are four annual 

installments of Rs. 12,690 at the end of each year. 

Interest is charged @ 5% and is included in the annual 

payment of Rs. 12,690. 

 Show machinery account and hire vendor account in the 

books of Kumar who defaulted in the payment of the 

third yearly payment where upon the vendor reposed the 

machinery. Kumar provides depreciation on the 

machinery @ 10% p.a. on reduced balance. 
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1 áÚÁ› 2018À S©õº J¸ C¯¢vμzøu ÁõhøPU 

öPõÒ•uÀ •øÓ°À Áõ[QÚõº. öPõkzu¼ß 

\μzxPÍõÁÚ: JÆöÁõ¸ Bsk •iÂ¾©õP ¹.12,690 

|õßS Bskz uÁønPÒ BS®. Ámi 5%  

Á`¼UP¨£kQÓx. Ámi¯õÚx Bsk ö\¾zxuÀ 

¹.12,690&À ÷\º¢xÒÍx. 

 S©õ›ß ¦zuPzvÀ C¯¢vμU PnUøP²® ÁõhøP 

ÂØ£øÚ¯õÍº PnUøP²® Põs¤. ‰ßÓõÁx Bskz 

uÁønø¯ AÁº Pmhz uÁÔ¯uÚõÀ ÂØ£øÚ¯õÍº 

C¯¢vμzøu v¸®£ GkzxU öPõshõº. SøÓ¢x ö\À 

©v¨¦ •øÓ°À S©õº C¯¢vμzvß «x 10% BskUS 

÷u´©õÚ® JxUSQÓõº.  

–––––––––––––– 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, MAY 2024. 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Business Environment? 

 ÁoPa _ØÖa`ÇÀ GßÓõÀ GßÚ? 

2. What is meant by Social responsibility? 

 \•uõ¯¨ ö£õÖ¨¦ £ØÔ AÔÁx GßÚ? 

3. What is Mixed Economy? 

 P»¨¦ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

4. What is meant by industrial policy?  

 öuõÈØ öPõÒøP £ØÔ AÔÁx GßÚ? 

5. What is Disinvestment? 

 •u½ißø© GßÓõÀ GßÚ? 

6. Expand : WTO and SIDCO. 

 Â›ÁõUS : WTO ©ØÖ® SIDCO. 

Sub. Code 
31014/33514
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7. What is meant by Contract? 

 J¨£¢u® Gß£uß ö£õ¸Ò ¯õx? 

8. State any two features of Globalisation. 

 E»P©¯©õUP¼ß ]Ó¨¤¯À¦PÎÀ H÷uÝ® CμsiøÚU 
TÖP. 

9. Expand : MNC and IMF. 

 Â›ÁõUS : MNC ©ØÖ® IMF. 

10. Define Public Distribution System.  

 ö£õx Â{÷¯õP•øÓ Gß£øu Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the importance of business environment?  

  ÁoP`Ç¼ß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) State the relationship between economic and non-
economic environment. 

  ö£õ¸Íõuõμ® ©ØÖ® ö£õ¸Íõuõμ® \õμõu `Ç¾US 
Cøh÷¯¯õÚ EÓÄ•øÓø¯U TÖP. 

12. (a) What are the characteristics of economic system? 

  ö£õ¸Íõuõμ •øÓ°ß Snõv\¯[PÒ ¯õøÁ? 

Or 

 (b) What are the significance of economic planning? 

  ö£õ¸Íõuõμ vmhªku¼ß •UQ¯zxÁ[PÒ 
¯õøÁ? 
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13. (a) Bring out the benefits of privatization. 

  uÛ¯õº©¯©õUP¼ß |ßø©PøÍz u¸P. 

Or 

 (b) What are the features of Globalisation? 

  E»P©¯©õUP¼ß A®\[PÒ ¯õøÁ? 

14. (a) What are the essentials of a valid contract? 

  ö\À»zuUP J¨£¢uzvß ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) State the advantages of Foreign Direct Investment. 

  A¢{¯ ÷|μi •u½miß |ßø©PøÍU TÖP. 

15. (a) State the objectives of GATT. 

  GATT ß ÷|õUP[PøÍU TÖP. 

Or 

 (b) What are the advantages of World Bank? 

  E»P Á[Q°ß |ßø©PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the different components of business 
environment. 

 ÁoPa _ØÖa`Ç¼ß £À÷ÁÖ TÖPøÍ ÂÁõvUP. 

17. List out the major achievements of economic planning in 
India. 

 C¢v¯õÂß ö£õ¸Íõuõμ vmhªh¼ß •UQ¯ 
\õuøÚPøÍ¨ £mi¯¼kP. 
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18. List out the major highlights of new industrial policy 
1991. 

 ¦v¯öuõÈØ öPõÒøP°ß •UQ¯ åμzxUPøÍ 
£mi¯¼kP. 

19. Briefly discuss the various functions of Commercial 
Banks. 

 ÁoP Á[QPÎß £À÷ÁÖ £oPøÍ _¸UP©õP ÂÁõvUP. 

20. State the merits and demerits of MNC. 

 £ßÚõmkU PÇPzvß |ßø©PÒ ©ØÖ® wø©PøÍ TÖP. 

—————————— 
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DISTANCE EDUCATION 

M.Com. (Finance and Control) DEGREE EXAMINATION, 
MAY 2024. 

Second Semester 

OPERATIONS RESEARCH 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define feasible solution. 

2. Define slack variable. 

3. Write short note on Assignment problem. 

4. Write dual optimality condition. 

5. Define critical and non-critical activity. 

6. Define critical path of a project Network. 

7. Write the types of simulation. 

8. Define Pseudo-random Numbers. 

9. Define Total Float. 

10. What is meant by Simulation? 

Sub. Code 
33521 
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PART B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the main phases of operation research? 

Or 

 (b)  Solve the following LPP by Graphical method : 

  Max 21 23 xxz +=  

  Subject to  

   

3

2

12

21

1

21

≤+
≤
≤+−

xx
x
xx

 

  and 0, 21 ≥xx . 

12. (a) Find the basic solution to the following LPP : 

  Max 321 33 xxxz ++=  

  Subject to 
  432 321 =++ xxx  

  7532 321 =++ xxx  

  0,, 321 ≥xxx . 

Or 

 (b)  Find the dual of the LPP : 

  Min 214 xxz +=  

  Subject to  
  021 ≥+ xx  

  2432 21 ≥+ xx  

  0, 21 ≥xx . 
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13. (a) Explain the North West corner rule for solving 
transportation problem. 

Or 

 (b)  Solve the Assignment problem : 

 A B C D

1 1 4 6 3

2 9 7 10 9

3 4 5 11 7

4 8 7 8 5

14. (a) Obtain the initial basic feasible solution using NWC 

  A B C D Supply

 1 11 20 7 8 50 

Source 2 21 16 20 12 40 

 3 8 12 18 9 70 

Or 

 (b)  Distinguish between transportation models and 
Assignment model. 

15. (a) Solve the following 2 × 2 game : 

 B 

2 5  
A 7 3 

Or 

 (b)  Write the uses of branch and bound method. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Solve the following transportation problem : 
 To  

From A B C Available 

I 50 30 220 1 

II 90 45 170 3 

III 250 200 50 4 

Requirement 4 2 2  

17. Solve the following game graphically : 
 Player B

 –2 0 

Player A 3 –1 

 –3 2 

 5 –4 

18. Solve the following integer linear programming problem 
by using branch and bound method : 

 Max. 21 32 xxz +=  

 Subject to : 

 
3694

3575

21

21

≤+
≤+

xx
xx

 

 0, 21 ≥xx  and are integers. 

19. The utility data for a network are given below. Identify 
the critical path : 
Activity : 0-1 1-2 1-3 2-4 2-5 3-4 3-6 4-7 5-7 6-7

Duration : 3 8 12 6 3 3 8 5 3 8 

20. Explain the PERT procedure. 

––––––––––– 
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M.Com. (Finance & Control) DEGREE EXAMINATION,  
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ORGANIZATIONAL BEHAVIOUR 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by organisational behaviour? 

2. State the meaning of personality? 

3. Write short note on individual behaviour? 

4. Write short note on Attitude? 

5. Define-Values. 

6. Write short note on group norms. 

7. What is meant by Career planning? 

8. State the concept of organizational politics. 

9. Mention the meaning of organisational culture. 

10. What do you mean by Communication Management? 

Sub. Code 
33522 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Discuss the nature of human behaviour. 

Or 

 (b)  What are the process of perception? 

12. (a) Narrate the types of values. 

Or 

 (b)  Briefly explain the theories of learning. 

13. (a) What is conflict? Is conflict is desirable? 

Or 

 (b)  State the types of groups in organization. 

14. (a) Explain the impact of organisational climate. 

Or 

 (b)  Narrate the types of Emotions. 

15. (a) What are the dimensions of Emotional Intelligence? 

Or 

 (b)  Discuss the ways of making communication 

effective. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the importance of organisational behaviour. 

17. Discuss the major personality factors affecting behaviour 
at work. 

18. Explain the measures to reduce conflict. 

19. Explain the need for career planning. 

20. Discuss the problems of upward communication. How 
would you overcome the difficulties? 

———————— 
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ADVANCED COST ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Cost? 

 AhUPÂø» GßÓõÀ GßÚ? 

2. What is meant by Material Control? 

 ‰»¨ö£õ¸Ò Pmk¨£õk £ØÔ AÔÁx GßÚ? 

3. What do you mean by Labour? 

 EøÇ¨¦ £ØÔ }Âº AÔÁx GßÚ? 

4. What is meant by Overhead? 

 ÷©Øö\»ÄPÒ £ØÔ AÔÁx GßÚ? 

5. List out any two features of Job Costing. 

 £o AhUP Âø»°¯¼ß H÷uÝ® Cμsk A®\[PøÍ 
£mi¯¼kP. 

Sub. Code 
31023/ 
33523 
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6. What is Unit Costing? 

 A»S AhUPÂø»°¯À GßÓõÀ GßÚ? 

7. What is Operating Costing? 

 C¯UP AhUPÂø»°¯À GßÓõÀ GßÚ? 

8. What do you mean by Transport Costing? 

 ÷£õUSÁμzx AhUPÂø»°¯À £ØÔ }Âº AÔÁx GßÚ? 

9. What is Standard Costing? 

 {ø»¯õÚ AhUPÂø»°¯À GßÓõÀ GßÚ? 

10. What is meant by Cost Reduction? 

 AhUPÂø» SøÓ¨¦ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b) 

11. (a) Distinguish between cost accounting and financial 
accounting. 

  AhUPÂø»U PnUQ¯À ©ØÖ® {v{ø»U 
PnUQ¯ø» ÷ÁÖ£kzxP. 

Or 

 (b) Consumption of materials per annum Rs.20,000 

  Order placing cost per order Rs.50 

  Cost per kilo of raw materials Rs.2 

  Storage cost 8% on average in inventory 

  Calculate economic order quantity. Also calculate 
the number of orders will be placed in a year. 
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  J¸ BskUS £¯ß£k® Ckö£õ¸Îß ©v¨¦ 
¹.20,000 

  J¸ Bøn°k® ö\»Ä ¹.50 

  J¸ Q÷»õ Ckö£õ¸Îß ©v¨¦ ¹.2 

  £shP\õø»°ß £õxPõ¨¦a ö\»Ä 8% (ö£õ¸Îß 
©v¨¤ß ÷©À) 

  ]UPÚ öPõÒ•uÀ AÍøÁU PnUQkP. J¸ 
BsiØS GzuøÚ Bøn Ch¨£k® Gß£øu²® 
PnUQkP. 

12. (a) Find out wages per hour based on the following 
information :  

  Wages per year – Rs.2,400 

  Annual bonus–Rs.25% of wages 

  Contribution to P.F. @ 10% of wages 

  E.S.I. contribution @ 3% of wages 

  Total leave permitted during the year 60 days. 

  Cost of labour welfare amenities Rs.8,000. 

  No. of workmen 200 

  Normal idle time: 80 hours 

  Working day per annum: 320 days of 8 hours. 
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  RÌÁ¸QßÓ ÂÁμ[PÎ¼¸¢x J¸ ©o AÍÂØPõÚ 
T¼°øÚU PnUQkP 

  BskUPõÚ T¼ ¹.2,400 

  Bsk ÷£õÚì T¼°À 25% 

  ÷\©|» {v°À ö\¾zv¯x T¼°À 10% 

  öuõÈ»õÍº ©õ{» Põ¨¦ {v°À ö\¾zv¯x  
T¼°À 3% 

  |h¨¦ BsiÀ A[RP›UP¨£mh Âk•øÓ ö©õzu 
|õmPÒ 60 |õmPÒ öuõÈ»õÍº Á\vUPõP 
ö\»ÁÈzux ¹.8,000 ö©õzu ÷Áø»¯õmPÒ 200 
\õuõμn £o°À CÀ»õ Põ»® 80 ©oAÍÄ Bsk 
£o |õmPÒ 320 J¸ |õøÍUS 8 ©o ÷|μ®.  

Or 

 (b) Apportion the following expenses to various 
departments. 

 Total (Rs.) A B C 

Rent and Rates 5,000    

General lighting 2,000    

Floor Area (Sq. ft)  1,000 500 500

Lighting point  3 2 5 

  ¤ßÁ¸® ö\»ÂÚ[PøÍ £À÷ÁÖ xøÓPÐUS 
£Qº¢uÎUP 

 ö©õzu® (¹.) A B C 

ÁõhøP ©ØÖ® Ãu[PÒ 5,000    

ö£õxÁõÚ öÁÎa\® 2,000    

uøμ°ß £μ¨¦ (\xμ Ai) 1,000 500 500

ÂÍUSPÎß GsoUøP 3 2 5 
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13. (a) The following are the information relating to a 
contract account No. 123: 

 Rs. 

Contract price 6,00,000

Wages 1,64,000

General expenses 8,600

Raw materials 1,20,000

Plant 20,000

  As on date, cash received was Rs.2,40,000 being 
80% of work certified. The value of materials 
remaining at site was Rs.10,000. Depreciate plant 
by 10%. Prepare the contract account. 

  ¤ßÁ¸® ÂÁμ[PÒ J¨£¢u ÷Áø» 123 UPõÚøÁ : 

 ¹. 

J¨£¢u öuõøP 6,00,000
T¼ 1,64,000
ö£õxa ö\»ÄPÒ 8,600
‰»¨ö£õ¸mPÒ 1,20,000
C¯¢vμ® 20,000

  CßøÓ¯z ÷uv •i¯ ¹.2,40,000 öμõUP® 
ö£Ó¨£mkÒÍx. CzöuõøP \õßÔuÌ ÁÇ[P¨£mh 
öuõøP°À 80% BS®. CÖv°À 
£¯ß£kzu¨£hõ©À Gg]²ÒÍ ‰»¨ö£õ¸Ò 
¹.10,000. C¯¢vμzvØS 10% ÷u´©õÚ® GÊu 
÷Ásk®. J¨£¢u PnUøPz u¯õ›UPÄ®. 

Or 

 (b) In Process I, 1000 units of raw materials were 
introduced at Rs.10 per unit. The other expenses 
incurred in this process were Rs.600 of the units 
introduced, 10% are normally lost in the course of 
manufacture and its scrap value is sold for Rs.3 per 
unit. Number of units produced in this process 750. 
Prepare the process account and find abnormal loss. 
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  1,000 A»SPÒ ‰»¨ö£õ¸mPÒ, JßÖ ¹.10 Ãu® 
£i•øÓ JßÔÀ AÔ•P¨£kzu¨£mhx. C¢u¨ 
£i•øÓ°À ö\´u ©ØÓ ö\»ÄPÒ ¹.600. 
AÔ•P¨£kzu¨£mh A»SPÎÀ 10 \uÃu® \õuõμn 
|mh A»SPÍõS®. PÈ¨¦PÒ A»S JßÖ ¹.3 US 
ÂØ£øÚ ö\´¯¨£kQßÓÚ. C¢u¨ £i•øÓ°À 
EØ£zv ö\´¯¨£mh A»SPÒ 750. £i{ø»U 
PnUS ©ØÖ® A\õuõμn |mhzøuU PshÔP. 

14. (a) A transport company operates 4 buses on a route 
100 kms. Long. Each bus makes three round trips 
per day on all 30 days in a month, On an average 
20% of the vehicles are in garage for repairs and 
maintenance. Ascertain the total distance covered 
by the buses in one month period. 

  J¸ ÷£õUSÁμzx {ÖÁÚ©õÚx |õßS ÷£¸¢xPøÍ 
100 Q÷»õ «mhº öuõø»Â¾ÒÍ ÁÈzuhzvÀ 
C¯USQÓx J¸ ©õuzvÀ EÒÍ 30 |õmPÎÀ |õÒ 
JßÖUS JÆöÁõ¸ ÷£¸¢x® ‰ßÖ •Ê £¯nzøu 
÷©ØöPõshx. \μõ\›¯õP 20% ÷£¸¢uõÚx 
£Êx£õº¨¦ ©ØÖ® £μõ©›¨¤ØPõP 
ÁõPÚUTmhzvÀ C¸US®. J¸ ©õu Põ»zvÀ 
÷£¸¢xPÍõÚx Aøh¢u ö©õzu yμzøuU 
PnUQkP. 

Or 

 (b) What is Batch Costing? How does it differ from job 
costing? 

  öuõSv AhUPÂø»°¯À GßÓõÀ GßÚ? Ax 
£oÁÈ AhUPÂø»°¯¼¸¢x GÆÁõÖ 
÷ÁÖ£kQÓx? 
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15. (a) From the following data calculate Labour variance 
for the two departments. 

Particulars Departments 

 A (Rs.) B (Rs.) 

Actual wages 2,000 1,800 

Standard hours produced 8,000 6,000 

Standard rate per hour 30 paise 35 paise

Actual hours worked 8,200 5,800 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸ xøÓPÐUPõÚ 
EøÇ¨¦ ©õÖ£õmøh PõsP. 

ÂÁμ[PÒ xøÓPÒ 

 A (¹.) B (¹.) 

Esø©¯õÚ T¼ 2,000 1,800 

vmh ÷|μzvØPõÚ EØ£zv 8,000 6,000 

J¸ ©oUPõÚ {ø»¯õÚ Ãu® 30 ø£\õ 35 ø£\õ

Esø©¯õP EøÇzu ÷|μ[PÒ 8,200 5,800 

Or 

 (b) State the reasons for differences in profits revealed 
by cost and financial accounts. 

  AhUPÂø» PnUQ¯À ©ØÖ® {v{ø»U PnUQ¯À 
öÁÎ¨£kzuUTi¯ C»õ£ ÷ÁÖ£õmiØUPõÚ 
Põμn[PøÍ TÖP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. From the following information, prepare a cost sheet 
 Rs.  Rs. 
Stock on 
01.01.2018: 

 Sales 95,000

Raw Materials 30,500 Direct Wages 20,400
Finished Goods 20,400 Office Expenses 5,400
Stock on 
31.01.2018: 

 Selling Expenses 3,800

 Raw Materials  48,500 Distribution 
Expenses 

2,500

Finished goods 10,000 Factory expenses 10,500
Work in Progress 
01.01.2018 

8,000 Purchase of Raw 
materials 

25,000

Work in Progress 
31.01.2018 

9,000  

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ AhUPÂø» £miø» 
u¯õ›UP : 

 ¹.  ¹. 
01.01.2018 AßøÓ¯ 
\μUQ¸¨¦: 

 ÂØ£øÚ 95,000

‰»¨ ö£õ¸ÒPÒ 30,500 ÷|μi T¼ 20,400
•iÄØÓ ö£õ¸ÒPÒ 20,400 A¾Á»P 

ö\»ÄPÒ 
5,400

31.01.2018 AßøÓ¯ 
\μUQ¸¨¦: 

 ÂØ£øÚ 
ö\»ÄPÒ 

3,800

‰»¨ö£õ¸ÒPÒ 48,500 £Qº¢uÎ¨¦ 
ö\»ÄPÒ 

2,500

•iÄØÓ ö£õ¸ÒPÒ 10,000 Bø» ö\»ÄPÒ 10,500
01.01.2018 AßøÓ¯ 
£Sv •iÄØÓ 
ö£õ¸ÒPÒ 

8,000 ‰»¨ö£õ¸ÒPÒ 
Áõ[Q¯x 

25,000

31.01.2018 AßøÓ¯ 
£Sv •iÄØÓ 
ö£õ¸ÒPÒ 

9,000  
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17. In a manufacturing company a daily wage rate 
guaranteed for a worker is Rs.250 and the standard 
output fixed for the month is 1,000 articles representing 
100 percent efficiency. The daily wage rate is without 
bonus to those workers who show up to 3

266  percent of 

the efficiency standard. Beyond this there is a bonus 
payable in a graded scale in a fixed ratio to the increased 
output as follows: 

Efficiency Bonus payable 

90% 10% 

100% 20% 

 Further increase of 1 percent bonus for every 1 percent 
further rise in efficiency. Find out the total earnings of  
A, B, C and D who have worked for  26 days in a month. 
Workers output is : 

 A – 600 articles, B – 900 articles, C – 1000 articles and  
D – 1080 articles. 

 J¸ EØ£zv {ÖÁÚzvÀ J¸ öuõÈ»õÎUS 
EzvμÁõu©ÎUP¨£mh vÚUT¼ ¹.250 BS®. 100% 
vÓø©ø¯U SÔUS® J¸ ©õuzvØPõÚ vmh EØ£zv 1000 

ö£õ¸mPÒ BS®. 3
266  \uÃuzvØS SøÓÁõPÄÒÍ 

÷Áø»¯õmPÐUS vÚUT¼ ©mk® ÷£õÚì CÀ»õ©À 
AÎUP¨£kQÓx. AuØS ÷©À vÓø©²ÒÍÁºPÐUS 
÷£õÚì ¤ßÁ¸©õÖ ÁÇ[P¨£kQÓx. 

vÓø© ö\¾zuUTi¯ ÷£õÚì

90% 10% 

100% 20% 

 CuØS ÷©Ø£mh JÆöÁõ¸ \uÂu vÓø© AvP›¨¦US® 
JÆöÁõ¸ \uÃu ÷£õÚì AÎUP¨£k®. J¸ ©õuzvÀ 26 
|õmPÒ ÷Áø» ö\´x •øÓ÷¯ 600, 900, 1000 ©ØÖ® 
1080 ö£õ¸mPøÍ EØ£zv ö\´u A, B, C ©ØÖ® D 
BQ÷¯õ¸øh¯ ö©õzu Fv¯zøuU Psk¤iUP. 
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18. A Product is obtained through three processes. From the 
following particulars, prepare process accounts, abnormal 
profit and loss accounts. 

 Processes 

 I II III 

Materials 2,600 1,980 2,962

Direct wages 2,000 3,000 4,000

Output (in units) 950 840 750 

Normal loss 5% 10% 15% 

Sale of scrap (per unit) Rs.2 Rs.4 Rs.5 

 General expenses Rs.9000. 1000 units at Rs.3 each were 
introduces in process I. 

 J¸ ö£õ¸Ò ‰ßÖ uÛzuÛ £i•øÓPøÍU Ph¢u ¤ß 
ö£Ó¨£kQÓx. RÌUPsh uPÁÀPÎ¼¸¢x £i•øÓU 
PnUS ©ØÖ® A\õuõμn C»õ£ ©ØÖ® |mhzøuU 
PshÔP 

 £i•øÓPÒ 

 I II III 

‰»¨ö£õ¸ÒPÒ 2,600 1,980 2,962

÷|μi T¼ 2,000 3,000 4,000

EØ£zv ö\´¯¨£mh 
A»SPÒ 

950 840 750 

\õuõμn |mh® 5% 10% 15% 

Gg]¯ ö£õ¸øÍ 
ÂØÓx (Jº A»SUS) 

¹.2 ¹.4 ¹.5 

 ö\»ÄPÒ ¹.9,000, 1,000 A»SPÒ JßÖ ¹.3 Ãu® 

£i•øÓ I JßÔÀ AÔ•P¨£kzu¨£mhx. 
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19. Given below are the particulars regarding the 

construction of a building. From this, prepare the 

contract accounts and ascertain the profit to be 

transferred to profit and loss account and the amount to 

be transferred to reserve: 

 Rs. 

Total contract price 2,50,000 

Material sent to site 85,000 

Labour engaged at site 74,000 

Plant installed at site 15,000 

Direct expenses 3,160 

Establishment charges 4,120 

Material returned to stores 550 

Value of work certified 1,95,000 

Value of work not certified 4,500 

Stock of materials (December 31) 1,880 

Wages accrued and due (finally) 2,400 

Direct expenses accrued (finally) 240 

Value of plant (December 31) 11,000 

Cash receive from contractee 1,80,000 
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 R÷Ç öPõkUP¨£mkÒÍøÁ. J¸ PmihU 
Pmk©õÚzvØPõÚ J¨£¢u® £ØÔ¯ Â£μ[PÒ Cv¼¸¢x, 
J¨£¢uU PnUøPz u¯õ›zx, C»õ£|mhU PnUQØS ©õØÓ 
÷Ási¯ öuõøPø¯²®, Põ¨¤ØS ©õØÓ ÷Ási¯ 
öuõøPø¯²® PnUQkP. 

 ¹. 

ö©õzu J¨£¢u ©v¨¦ 2,50,000

÷Áø»°hzvØS AÝ¨£¨£mh •»¨ö£õ¸mPÒ 85,000

÷Áø»°hzvÀ T¼ 74,000

÷Áø»°hzvÀ ö£õ¸zu¨£mh C¯¢vμ® 15,000

÷|μia ö\»ÄPÒ 3,160

{ÖÁÚa ö\»ÄPÒ 4,120

‰»¨ ö£õ¸Ò v¸¨¤ GkzxU öPõÒÍ¨£mhx 550

\õßÔuÌ ÁÇ[P¨£h ÷Áø»°ß ©v¨¦ 1,95,000

\õßÔuÌ ÁÇ[P¨£hõu ÷Áø»°ß ©v¨¦ 4,500

‰»¨ ö£õ¸Ò C¸¨¦ (i\®£º 31) 1,880

öPõk£h ÷Ási¯ T¼ (CÖv°À) 2,400

öPõk£h ÷Ási¯ ÷|μia ö\»Ä (CÖv°À) 240

C¯¢vμzvß ©v¨¦ (i\®£º 31) 11,000

J¨£¢u¨£mhÁ›h® C¸¢x ö£ØÖU 
öPõÒÍ¨£mh öuõøP 

1,80,000

20. SV Ltd. has furnished the following data : 

Particulars Budgeted Actual (March 2014)

Number of working days 25 27 

Production (units) 20,000 22,000 

Fixed overheads (Rs.) 30,000 31,000 

 Calculate various fixed overhead variances. 
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 Gì Â ¼ªöhm ¤ßÁ¸® uPÁÀPøÍ AÎUQÓx 

Â£μ[PÒ vmhªh¨£mhx Esø©¯õÚx 
(©õºa 2014)

÷Áø» |õmPÒ GsoUøP 25 27 

EØ£zv (A»SPÒ) 20,000 22,000 

{ø»¯õÚ ÷©Øö\»ÄPÒ (¹.) 30,000 31,000 

 £À÷ÁÖ {ø»¯õÚ ÷©Øö\»Ä ÷ÁÖ£õkPøÍU PnUQkP. 

––––––––––––– 



  

D–4619     

DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, MAY 2024. 

Second Semester 

FINANCIAL SERVICES 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term financial services. 

 {va ÷\øÁPÒ GßÓ ö\õÀø» Áøμ¯ÖUP.    

2. What are the objectives of money market? 

 £na \¢øu°ß ÷|õUP[PÒ ¯õøÁ? 

3. What is meant by primary market? 

 •ußø© \¢øu £ØÔ AÔÁx GßÚ? 

4. List out various investment companies. 

 £À÷ÁÖ •u½mk {ÖÁÚ[PøÍ £mi¯¼kP. 

5. Mention any four non-fund services. 

 {v¯À»õu ÷\øÁPÒ H÷uÝ® |õßøP SÔ¨¤kP. 

6. Give the meaning of underwriting. 

 J¨¦Öv°ß ö£õ¸øÍU SÔ¨¤kP. 
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7. Synthesis the term of consumer finance. 

 ~Pº÷Áõº {v GßÓ ö\õÀø» TÖP. 

8. Define the term merger and takeover. 

 CønzuÀ ©ØÖ® øP¯P¨£kzxuÀ GßÓ ö\õÀø» 
Áøμ¯ÖUP. 

9. What are the need for export finance? 

 HØÖ©v {vUPõÚ ÷uøÁ ¯õøÁ? 

10. What is meant by corporate advisory services? 

 {Ö© B÷»õ\øÚ ÷\øÁPÒ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Describe the nature of financial service industry. 

   {va ÷\øÁz xøÓ°ß ußø©PøÍ ÂÁ›UP. 

Or 

 (b) Distinguish capital market from money market. 

   £na \¢øu°¼¸¢x ‰»uÚa \¢øuø¯ 
÷ÁÖ£kzxP. 

12. (a) Explain the various kinds of financial services 
provided by IDBI. 

   IDBI ÁÇ[S® £À÷ÁÖ ÁøP¯õÚ {va ÷\øÁPøÍ 
ÂÍUSP. 

Or 

 (b) Enumerate the role of secondary market in stock 
exchange. 

   £[Sa \¢øu°À Cμshõ® {ø»\¢øu°ß 
£oPøÍU PnUQkP. 
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13. (a) Describe the features of hire purchase financing. 

   ÁõhøP öPõÒ•uÀ {v°ß A®\[PøÍ ÂÁ›UP. 

Or 

 (b) Write a detail on the RBI guidelines of lease 
financing. 

   SzuøP {v²uÂ°ß RBI ÁÈPõmkuÀPÒ £ØÔ¯ 
ÂÁμ[PøÍ GÊuÄ®. 

14. (a) Compare factoring and forfeiting. 

   Phß Á`¼US® •Pø©ø¯²® £[S 
JÖ¨¤Ç¨ø£²® J¨¤kP. 

Or 

 (b) Outline the different methods of portfolio 
management. 

   C»õUPõ ÷©»õsø© {ºÁõPzvß £À÷ÁÖ 
•øÓPøÍ ÷PõimkU PõmkP. 

15. (a) Indicate the functions of chit fund company. 

   ^mk {v {ÖÁÚzvß ö\¯À£õkPøÍU SÔ¨¤kP. 

Or 

 (b) Illustrate the important functions of credit rating 
agencies. 

   Phß ©v¨¥mk {ÖÁÚ[PÎß •UQ¯ 
ö\¯À£õkPøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the role of capital markets in the economic 
development of our country. 

 |©x |õmiß ö£õ¸Íõuõμ ÁÍºa]°À ‰»uÚa 
\¢øuPÎß £[øP¨ £ØÔ ÂÁõvUP. 
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17. “The role of SEBI as a market regulator” – Discuss. 

 “£[S\¢øu Pmk¨£õmhõÍμõP C¸¨£x ö\¤°ß 
£o¯õS®” – ÂÁõvUP. 

18. Examine the various steps in leasing transaction and also 
advantages of lease financing. 

 SzuøP £›ÁºzuøÚ°ß £À÷ÁÖ £iPÒ ©ØÖ® SzuøP 
{v²uÂ°ß |ßø©PøÍ²® Bμõ´P. 

19. Evaluate the operational guidelines of SEBI on asset 
management company of mutual funds. 

 £μì£μ {vPÎß ö\õzx ÷©»õsø© {ÖÁÚzvÀ 
ö\¤°ß ö\¯À£õmk ÁÈPõmkuÀPøÍ ©v¨¤kP. 

20. Elaborate the role and power of national housing bank. 

 ÷u]¯ ÃmkÁ\v Á[Q°ß £[S ©ØÖ® AvPõμzøu 
ÂÁ›UP. 

—————————— 



  

D–4620     

DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, MAY 2024. 

Third Semester 

INVESTMENT ANALYSIS AND PORTFOLIO 
MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Investment? 

 •u½k GßÓõÀ GßÚ? 

2. What do you mean by Risk? 

 Chº £ØÔ }Ãº AÔÁx GßÚ? 

3. What is Investment Process? 

 •u½mk ö\¯À•øÓ GßÓõÀ GßÚ? 

4. What is meant by Capital Market? 

 ‰»uÚ \¢øu £ØÔ AÔÁx GßÚ? 

5. Define the term “Risk”. 

 Chº GÝ® £uzøu Áøμ¯ÖUP. 

6. What is Mutual Fund? 

 £μì£μ {v GßÓõÀ GßÚ? 

7. What is meant by Market Indicators?  

 \¢øu SÔPõmiPÒ £ØÔ AÔÁx ¯õx? 

Sub. Code 
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8. What do you mean by future option? 

 GvºPõ» Â¸¨£® £ØÔ }Ãº AÔÁx ¯õx? 

9. What is Portfolio Revision? 

 xøÓ ©Ö£õºøÁ GßÓõÀ GßÚ? 

10. What is meant by Portfolio Management? 

 xøÓ ÷©»õsø© £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) List out the various types of investors. 

  •u½mhõÍºPÎß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP.  

Or 

 (b) Differentiate investment with speculation. 

  •u½møh FPÁoPzxhß ÷ÁÖ£kzxP. 

12. (a) What are the features of an Ideal Investment? 

  J¸ {øÓÁõÚ •u½miß A®\[PÒ ¯õøÁ? 

Or 

 (b) What are the classifications of systematic risk? 
Explain. 

  •øÓ¯õÚ Ch›ß ÁøPP¨£õkPÒ ¯õøÁ? ÂÍUSP. 

13. (a) What are the causes of risk? 

  Ch›ß Põμn[PÒ ¯õøÁ? 

Or 

 (b) How does SEBI regulate the primary market? 

  •uÀ{ø» \¢øuø¯ G¨£i SEBI 
•øÓ¨£kzxQÓx? 
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14. (a) What are the prerequisites to invest shares in 
India? 

  C¢v¯õÂÀ £[SPøÍ •u½k ö\´ÁuØPõÚ 
•ß÷uøÁPÒ ¯õøÁ? 

Or 

 (b) Briefly explain Sharpe Model. 

  åõÀì ©õv›ø¯ _¸UP©õP ÂÍUSP. 

15. (a) List out the assumptions of Capital Asset Pricing 
Model. 

  ‰»uÚ ö\õzx Âø» ©õv›°ß Gk÷PõÒPøÍ 
£mi¯¼kP. 

Or 

 (b) What are the factors to be considered while 
constructing a portfolio? 

  J¸ xøÓø¯ {ºÁQUS® ö£õÊx P¸zvÀ 
öPõÒÍ÷Á´i¯ PõμoPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various Investment Avenues in India. 

 C¢v¯õÂ¾ÒÍ £À÷ÁÖ •u½mk Áõ´¨¦PøÍ ÂÍUSP. 

17. State the selected list of proverbs in stock market. 

 £[Sa \¢øu°À ÷uº¢öukUP¨£k® £Çö©õÈPÎß 
£mi¯ø» TÖP. 

18. Briefly explain the various mutual fund schemes 
launched in India. 

 C¢v¯õÂÀ öuõh[P¨£mh £À÷ÁÖ £μì£μ{v 
vmhzvøÚ _¸UP©õP ÂÍUSP. 
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19. Describe the different variables that are to be considered 
while making economic analysis. 

 ö£õ¸Íõuõμ £S¨£õ´ÂøÚ ÷©ØöPõÒÐ® ö£õÊx 
PÁÛUP ÷Ási¯ £À÷ÁÖ ©õÔ¼PøÍ ÂÍUSP. 

20. Explain the Random - Walk theory. 

 ÷μsh® ÁõU ÷Põm£õmøh ÂÍUSP. 

—————————— 



  

D–4621     

DISTANCE EDUCATION 

Common for M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, MAY 2024. 

Third Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define them Financial Management. 

 {v ÷©»õsø© GÝ® £uzøu Áøμ¯ÖUP. 

2. What is finance function? 

 {v \õº¦ GßÓõÀ GßÚ? 

3. What is meant by Preference shares? 

 •ßÝ›ø© £[SPÒ £ØÔ AÔÁx GßÚ? 

4. What is Capital Market? 

 ‰»uÚ \¢øu GßÓõÀ GßÚ? 

5. What do you mean by Capital Structure? 

 ‰»uÚ Pmhø©¨¦ £ØÔ }Âº AÔÁx GßÚ? 

6. Define the term Working Capital. 

 |øh•øÓ ‰»uÚ® GÝ® £uzøu Áøμ¯ÖUP. 
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7. What do you mean by Capital Expenditure Budget? 

 ‰»uÚ ö\»Âß vmh® £ØÔ }Âº AÔÁx GßÚ? 

8. What do mean by Cost of Debt? 

 Phß \õº¢u AhUPÂø» £ØÔ }Âº AÔÁx GßÚ? 

9. What is meant by Letter of Credit? 

 ÁõoP EÖvUPiu® £ØÔ AÔÁx GßÚ? 

10. What is International Financial Management?  

 £ßÚõmk {v ÷©»õsø© GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a)  What are the objectives of financial management? 

  {v ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between profit maximization and 
wealth maximization. 

  C»õ£ AvP›¨¦ ©ØÖ® ÁÍ AvP›¨ø£ 
÷ÁÖ£kzxP. 

12. (a) Explain the different kinds of debentures. 

  PhÜmk¨£zvμzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Bring out the disadvantages of over capitalization. 

  ªøP ‰»uÚzvß SøÓ£õkPøÍz u¸P. 
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13. (a) What are the causes of under capitalization? 
  SøÓ ‰»uÚ©õUPzvØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) What are the characteristics of balanced capital 
structure? 

  \©{ø»°¯»õÚ ‰»uÚ ÁiÁø©¨¤ß 
Snõv]¯[PÒ ¯õøÁ? 

14. (a) List out the significance of cost of capital. 
  ‰»uÚ AhUPÂø»°ß •UQ¯zxÁzøu 

£mi¯¼kP. 

Or 

 (b) Distinguish between operating and financial 
leverage. 

  ö\¯À£õmk ©ØÖ® {v ö|®¦÷PõÀPøÍ 
÷ÁÖ£kzxP. 

15. (a) State the significance of leverage. 
  ö|®¦÷PõÀPÎß •UQ¯zxÁzøu TÖP. 

Or 

 (b) Bring out the assumptions of Walter’s model theory. 
  ÁõÀh›ß ©õv›U ÷Põm£õmiß Gk÷PõÒPøÍz 

u¸P. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the main functions of financial management. 
 {v ÷©»õsø©°ß •UQ¯©õÚ £oPøÍ ÂÍUSP. 

17. Discuss the various factors influencing working capital. 
 |øh•øÓ ‰»uÚzøu yshUTi¯ £À÷ÁÖ PõμoPøÍ 

ÂÁõvUP. 
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18. What are the merits and demerits of Leasing? 

 Szuøu°ß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

19. Discuss the different types of dividend policies in brief. 

 £[Põu¯ öPõÒøP°ß öÁÆ÷ÁÖ ÁøPPøÍ _¸UP©õP 
ÂÁõvUP. 

20. Describe the various methods of international payments. 

 £ßÚõmk ö\¾zxu¼ß £À÷ÁÖ •øÓPøÍ ÂÁõvUP. 

—————————— 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, MAY 2024. 

Third Semester 

PRINCIPLES OF PERSONNEL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Job analysis? 

 ÷Áø» £S¨£õ´Ä GßÓõÀ GßÚ? 

2. Trace the meaning of Human Resource Planning. 

 ©Ûu ÁÍ vmhªku¼ß ö£õ¸Ò u¸P. 

3. Define Selection. 

 ÷uº¢öukzuø» Áøμ¯ÖUP. 

4. What is Performance appraisal? 

 ö\¯ÀvÓß ©v¨¥k GßÓõÀ GßÚ? 

5. What is meant by Fringe Benefits? 

 ÂÎ®¦ |ßø© £ØÔ AÔÁx GßÚ? 

6. Give the meaning of Leadership. 

 uø»ø©zxÁ® Gß£uß ö£õ¸øÍ u¸P. 
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7. What do you mean by Morale? 

 JÊUP® £ØÔ }Âº AÔÁx GßÚ? 

8. What is Absenteeism? 

 Á¸øP°À»õø© GßÓõÀ GßÚ? 

9. What do you mean by industrial relations? 

 öuõÈÀxøÓ EÓÄPÒ £ØÔ }Âº AÔÁx GßÚ? 

10. What is Personal Audit? 

 uÛ¨£mh uoUøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Define Personal Management. List out its 
objectives. 

  £o¯õÍº ÷©»õsø©ø¯ Áøμ¯ÖUP.  AuÝøh¯ 
÷|õUP[PøÍ £mi¯¼kP. 

Or 

 (b) Bring out the importance of job analysis. 

  ÷Áø» £S¨£õ´Âß •UQ¯zxÁzøu u¸P. 

12. (a) Briefly explain the pre-requisites of a good 
recruitment policy. 

  J¸ |À» BÒ÷\ºzuÀ öPõÒøP°ß •ß÷uøÁPÒ 
¯õøÁ? 

Or 

 (b) Point out essential features of a good training 
programme. 

  J¸ |À» £°Ø] vmhzvß AÁ]¯©õÚ A®\[PøÍ 
SÔ¨¤kP. 
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13. (a) Elucidate the different methods of wage fixation. 

  Fv¯zøu {ºn¯® ö\´²® £À÷ÁÖ •øÓPøÍ 
öuÎÄ£kzxP. 

Or 

 (b) What are the qualities of a good leader? 

  J¸ |À» uø»ÁÛß Sn[PÒ ¯õøÁ? 

14. (a) What is discipline? How to administer discipline? 

  JÊUP® GßÓõÀ GßÚ?  JÊUPzøu GÆÁõÖ 
{ºÁQ¨£x? 

Or 

 (b) Briefly discuss the workers participation in 
management. 

  {ºÁõPzvÀ öuõÈ»õÍºPÎß £[PÎ¨ø£ _¸UP©õP 
ÂÁõvUPÄ®. 

15. (a) What are the causes of poor industrial relations? 

  ÷©õ\©õÚ öuõÈÀxøÓ EÓÄPÐUPõÚ Põμn[PÒ 
¯õøÁ? 

Or 

 (b) Explain the types and techniques of Personnel 
research. 

  £o¯õÍº Bμõ´a]°ß ÁøPPÒ ©ØÖ® ~m£[PøÍ 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various functions of personnel management. 

 £o¯õÍº {ºÁõPzvß £À÷ÁÖ ö\¯À£õkPøÍ 
ÂÁ›UPÄ®. 

17. Describe briefly the various steps involved in the 
selection process. 

 ÷uº¢öukzuÀ £i•øÓ°¾ÒÍ £À÷ÁÖ £i{ø»PøÍ 
_¸UP©õP ÂÁõvUPÄ®. 
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18. Explain the need and measurement of employee 
motivation. 

 £o¯õÍº FUPzvß ÷uøÁ ©ØÖ® AÍÃmøh 
ÂÍUPÄ®. 

19. Summarizes the grievance handling procedure in an 
organization. 

 J¸ {ÖÁÚzvÀ SøÓPøÍU øP¯õÐ® |øh•øÓø¯a 
_¸UP©õPU TÖP. 

20. Bring out the importance of collective bargaining. 

 Tmk ÷£μ® ÷£_Áuß •UQ¯zxÁzøu öÁÎ¨£kzxP. 

 

—————————— 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com. (F & C) DEGREE 
EXAMINATION, MAY 2024. 

Third Semester 

CORPORATE ACCOUNTING  

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Forfeiture of Shares? 
 £[S JÖ¨¤øÇ¨¦ GßÓõÀ GßÚ? 

2. What is meant by Redeemable Preference Shares? 
 «mPUTi¯ •ßÝ›ø©¨ £[SPÒ £ØÔ AÔÁx GßÚ? 

3. What is Capital Reserve? 
 •u¼Ú Põ¨¦ GßÓõÀ GßÚ? 

4. What do you mean by Yield Method? 
 Á¸©õÚ •øÓ £ØÔ }Âº AÔÁx GßÚ? 

5. What do you mean by Net Assets Method? 
 {Pμ ö\õzx •øÓ £ØÔ }Âº AÔÁx GßÚ? 

6. What is Capital Reduction? 
 •u¼Ú SøÓ¨¦ GßÓõÀ GßÚ? 

7. What is Pre-acquisition Profits? 
 Áõ[SÁuØS •ß Dmi¯ C»õ£® GßÓõÀ GßÚ? 

Sub. Code 
31034/33534



D–4623 
  2

8. Who are Preferential Creditors? 

 •ßÝ›ø© PhÜ¢÷uõºPÒ Gß£Áº ¯õº? 

9. What is Branch Adjustment? 

QøÍ \›PmkuÀ GßÓõÀ GßÚ? 

10. What is Human Resource Accounting? 

 ©Ûu ÁÍ PnUQ¯À GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Write a note on :  

  (i)  Ex-interest  

  (ii) Cum-interest. 
  ]Ö SÔ¨¦ ÁøμP : 

  (i)  Ámi }[P»õP 

  (ii)  Ámi ÷\º¢ux. 

Or 

 (b) Madura Ltd. Issued 10000 preference shares by  
Rs. 10 each at a premium of Rs. 3 per share, payable 
Rs.2 per share on application; Rs.5 per share on 
allotment including premium: Rs.6 per share on 
first call and final call. The shares were all 
subscribed and money was dully received. Give the 
journal entries and cash book entries. 

  ©xμõ {Ö©® £[S JßÖ ¹. 10 Ãu® 10,000 
•ßÝ›ø© £[SPøÍ ¹. 3 Ãu® •øÚ©zvÀ 
öÁÎ°mhx. £n©õÚx ¤ßÁ¸©õÖ 
ö\¾zu¨£mhx. Âsn¨£zvß ÷£õx ¹. 2 ®, 
JxURmiß ÷£õx ¹. 5 (•øÚ©® EÒ£h) •uÀ 
©ØÖ® CÖv AøÇ¨¤ß ÷£õx ¹. 6. £[SPÍõÚx 
•øÓ¯õP J¨£¨£mhx £n® AøÚzx® 
ö£Ó¨£mhx. SÔ¨÷£mk £vÄPøÍ²®, öμõUP 
¦zuP £vÄPøÍ²® u¸P. 



D–4623 
  3

12. (a) From the following particulars, prepare a statement 
of profit and loss for the year ended 31.12.2017.  

Particulars Rs. Particulars Rs. 

Sales 3,00,000 Directors 
Remuneration 

1,750

Purchases 1,95,000 Debenture Interest 1,090

Salaries 15,000 Rent, Rate and Taxes 5,500

Selling Expenses 3,000  Advertisement  500

Depreciation 1,500 Audit Fees 1,500

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31.12.2017 À 
•iÁøh¯UTi¯ C»õ£ |mh PnUQß AÔUøPø¯ 
u¯õº ö\´P. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÂØ£øÚ 3,00,000 C¯US|º Fv¯® 1,750

öPõÒ•uÀ 1,95,000 PhÜmk¨ £zvμ Ámi 1,090

\®£Í® 15,000 ÁõhøP, Ãu® ©ØÖ® Á› 5,500

ÂØ£øÚ ö\»ÂÚ[PÒ 3,000  ÂÍ®£μ® 500

÷u´©õÚ® 1,500 uoUøP¯õÍº Pmhn® 1,500

Or 

 (b) Explain the various methods of valuation of shares. 

  £[SPøÍ ©v¨¤kÁvß £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

13. (a) X Ltd. took over the assets Rs. 3,50,000 and 
Liabilities of Rs. 30,000 of Y and Co. for the 
purchase consideration of Rs. 3,30,000. X Ltd. paid 
the purchase consideration by issuing debenture of 
Rs. 100 each at a premium of 10%. Give Journal 
Entries. 
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  X {Ö©® Y {ÖÁÚzvhª¸¢x ö\õzxUPÍõP  
¹. 3,50,000 &®, ö£õÖ¨¦PÍõP ¹.30,000&® GkzxU 
öPõshx. Cuß öPõÒ•uÀ ©Ö£¯ß ¹.3,30,000&® 
BS®. X {Ö©® Y {ÖÁÚzvØS, JßÖ ¹.100 Ãu® 
10% •øÚ©zvÀ PhÜmk¨ £zvμzøu öPõÒ•uÀ 
©Ö£¯ÚõP ö\¾zv¯x. ÷uøÁ¯õÚ •uØ 
SÔ¨÷£mk £vÄPøÍ u¸P. 

Or 

 (b) SAN Company Ltd. passed resolution and received 
sanction of the court for the reduction of share 
capital by Rs. 2,50,000. After the arrangement, the 
credit balance of capital reduction account was  
Rs. 2,50,000. The amount available was utilized for 
write off Profit and Loss a/c (Dr.) 1,05,000, reducing 
the value of Plant and Machinery Rs. 45,000, 
Goodwill Rs. 20,000, investment Rs. 40,000. The 
balance available would be transferred to capital 
reserve. Pass necessary Journal entries. 

  SAN {Ö©® uÚx ö£õx{ø» £[SPÎÀ  
¹.. 2,50,000 AÍÂØS SøÓUP wº©õÚzøu 
{øÓ÷ÁØÔ }v©ßÓ Bønø¯ ö£ØÓx. C¢u 
HØ£õmiØS ¤ÓS ‰»uÚ SøÓ¨¦ PnUS 
¹.2,50,000 ÁμÄ C¸¨ø£ Põmi¯x. C¢u 
öuõøPø¯ øÁzx C»õ£|mh PnUQß £ØÖ C¸¨¦ 
¹.1,05,000 •®, ö£õÔ ©ØÖ® C¯¢vμ ©v¨¤À 
¹.45,000 •®, |Øö£¯›À ¹.20,000 •®, 
•u½kPÎÀ ¹.40,000 •® SøÓUP ÷Ásk®. 
«u•ÒÍ öuõøPø¯ ‰»uÚ Põ¨¤ØS ©õØÓ 
÷Ásk®. ÷uøÁ¯õÚ SÔ¨÷£mk £vÄPøÍz u¸P. 

14. (a) From the following details, prepare the consolidated 
Balance sheet. 

Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd. 

 Rs. Rs.  Rs. Rs. 

Capital  
(Rs.10 each) 

4,800 3,200  256 shares in 
S Ltd. 

2,000 – 
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Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd. 

Creditors 200 600  Sundry Assets 3,000  3,900

Profit and Loss a/c – 100    

 5,000 3,900  5,000 3,900 

  On the date of acquisition, S Ltd. has a debit 
balance of Rs.200 on Profit and Loss account. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x J¸[Qøn¢u C¸¨¦{ø»U 
SÔ¨ø£ u¯õ›UP. 

ö£õÖ¨¦PÒ H 
¼ªöhm 

S 
¼ªöhm 

ö\õzxUPÒ H 
¼ªöhm

S 
¼ªöhm

 ¹. ¹.  ¹. ¹. 

•uÀ (JßÖ 
¹.10 Ãu®) 

4,800 3,200  S {Ö©zvÀ 256 
£[SPÒ  

  

PhÜ¢÷uõºPÒ 200 600  Áõ[Q¯x 2,000 – 
C»õ£ |mh P/S – 100 £Ø£» ö\õzxUPÒ 3,000  3,900

 5,000 3,900  5,000 3,900

  £[SPøÍ Áõ[S® ÷uv°À S {Ö©zvÀ ¹.200 
ö£Ö©õÚ C»õ£ |mhU PnUQß £ØÖ C¸¨¦ 
C¸¢ux. 

Or 
 (b) Arul Ltd. went into liquidation with following 

liabilities.  
  (i)  Secured creditors Rs.22,000 (securities 

realized Rs. 27,000) 
  (ii)  Preferential creditors Rs. 1,000  
  (iii)  Unsecured creditors Rs. 30,800 
  Liquidation expenses amounted to Rs.300. He is 

entitled to a remuneration of 3% on the amounts 
realized (including securities with creditors) and 
1 2

1 % on the amount paid to unsecured creditors. 
The various assets (excluding securities with 
creditors) realized amount of Rs.26,500. Prepare the 
liquidator’s final statement of account. 
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  ¤ßÁ¸® ö£õÖ¨¦PÐhß A¸Ò {Ö©® 
Pø»UP¨£kQßÓÚ. 

  (i)  ¤øn¯•ÒÍ PhÜ¢÷uõº ¹.22,000 
(¤øn¯[PøÍ ÂØÓx ¹. 27,000) 

  (ii)  •ßÝ›ø© PhÜ¢÷uõºPÒ ¹. 1,000  

  (iii)  ¤øn¯ªÀ»õ PhÜ¢÷uõºPÒ ¹. 30,800 

  Pø»¨¦a ö\»Ä ¹.300 BS®. ö\õzxUPøÍ 
ÂØÓzvÀ 3% •® (PhÜ¢÷uõ¸hß Ti¯ 
¤øn¯[PÒ ÷\ºzx) ©ØÖ® ¤øn¯ªÀ»õ 

PhÜ¢÷uõ¸US ö\¾zv¯ öuõøP°À 1 2
1 % •® 

Fv¯® ö£Ó Pø»¨£õÍ¸US E›ø© Esk. 
ÂØP¨£mh ö\õzxUPÎß ©v¨¦ ¹.26,500 
(PhÜ¢÷uõ¸hß Ti¯ ¤øn¯UVÒ uÂμ). 
Pø»¨£õÍ›ß CÖv PnUøP Põmk® £mi¯ø» 
u¯õº ö\´P. 

15. (a) The revenue account of a life assurance company 
shows the life assurance fund on 31.03.2015 at  
Rs.62,21,310, before taking into account the 
following. 

 Rs. 

Claims covered under reinsurance 12,000

Bonus utilized in reduction of life 
insurance premium 

4,500

Interest accrued on securities 8,260

Outstanding premiums 5,420

Claims intimated but not admitted 26,500

  What is the life assurance fund after taking into 
account the above omissions? 

  R÷Ç öPõkUP¨£mkÒÍ PnUQkPøÍ Gkzx 
öPõÒÁuØS •ß£õP 31.03.2015 ® Bsiß B²Ò 
Põ¨¥mk {ÖÁÚzvß Á¸Áõ´  PnUQÀ B²Ò 
Põ¨¥mk {v ¹.62,21,310 I PõmkQÓx.  
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 ¹. 

©ÖUPõ¨¥miß ‰»® ÷PõμÀPÒ 12,000

B²Ò Põ¨¥mk •øÚ©® £¯ß£kzv 
÷£õÚì PÈ¢ux 

4,500

¤øn¯[PÎß ‰»® Áμ÷Ási¯ Ámi 8,260

öPõkUP¨£h ÷Ási¯ •øÚ©® 5,420

öu›ÂUP¨£mh ÷PõμÀPÒ 26,500

  ÷©÷» Âmk÷£õÚ PnUSPøÍ GkzxUöPõsh ¤ß 
B²Ò Põ¨¥mk {v¯õÚx GßÚ? 

Or 

 (b) What is IFRS? State its advantages. 

  IFRS GßÓõÀ GßÚ? AuÝøh¯ |ßø©PøÍ TÖP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A company with n authorized capital of Rs.30,00,000 
invited applications for 2,00,000 shares of Rs.10 each  
premium of Re.1. The shares are payable as follows : 

 On Application Rs.3; On Allotment Rs.4 (including 
Premium); On first and final call Rs.4 There was over 
subscription and applications were received for 3,60,000 
shares. Allotment of shares was made as under : 

 To Applicants of 1,50,000 shares  1,50,000 shares 

 To Applicants of 25,000 shares  Nil 

 To Applicants of 1,85,000 shares  50,000 shares 

 Excess money paid on application was adjusted against 
sums due on allotment and first call. All moneys due were 
received. Give journal entries to record the above 
transactions. 
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 ¹.30,00,000 I A[RP›UP¨£mh •u»õP öPõsh J¸ 
{Ö©® 2,00,000 £[SPøÍ £[S JßÖUS ¹.10 Ãu®,  
¹. 1 •øÚ©zvÀ öÁÎ°mhx. £n©õÚx ¤ßÁ¸©õÖ 
ö\¾zu¨£h ÷Ásk®. 

 Âsn¨£zvß ÷£õx ¹.3, JxURmiß ÷£õx ¹.4 
(•øÚ©® EÒ£h), •uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx 
¹.4. 

 ªøP J¨£©õP 3,60,000 £[SPøÍ ö£ØÓx. ¤ßÁ¸©õÖ 
£[SPÒ JxURk ö\´¯¨£mhx. 

 1,50,000 £[SPÒ Âsn¨¤zuÁºPÐUS – 1,50,000 
£[SPÒ 

 25,000 £[SPÒ Âsn¨¤zuÁºPÐUS – JßÖ ªÀø» 

 1,85,000 £[SPÒ Âsn¨¤zuÁºPÐUS – 50,000 
£[SPÒ 

 ªSv¯õP ö£ØÓ Âsn¨£n® JxURk ©ØÖ® AøÇ¨¦ 
£nzvÀ \› ö\´¯¨£mhx. AøÚzx £n•® 
ö£Ó¨£mhx GÚU öPõsk ÷uøÁ¯õÚ SÔ¨÷£mk 
£vÄPøÍ u¸P. 

17. The Net profit of a business after providing for taxation 
for the past five years are : Rs.40,000; Rs.42,500; 
Rs.46,000; Rs.52,500 and Rs.59,000. The average capital 
employed in the business is Rs.4,00,000 and the normal 
rate of return expected in this type of business is 10%. 
Calculate the goodwill on the basis of : 

 (a) Five years purchase of Super profits 

 (b) Annuity method, taking the present value of 
annuity of Re. 1 for five years at 10% as Rs.3.78 

 (c)  Capitalization of super profits. 
 J¸ Â¯õ£õμzvÀ Á›ø¯ JxUQ¯ ¤ßÚº Ph¢u 5 

BskPÎÀ Dmi¯ {Pμ »õ£[PÒ : ¹.40,000; ¹.42,500; 
¹.46,000; ¹.52,500 ©ØÖ® ¹.59,000 BS®. 

 Â¯õ£õμzvÀ \μõ\› •uÀ ¹.4,00,000. \õuõμn Á¸©õÚ 
Ãu® 10% ¤ßÁ¸® Ai¨£øh°À |Øö£¯øμU PnUQkP: 

 (A) I¢uõskPÎß E¯º C»õ£ öPõÒ•uÀ 

 (B) Bsk öuõøP •øÓ – 5 BskPÎÀ 10% ¹.1 
©v¨¦øh¯ |h¨¦ BsköuõøP ©v¨¦ ¹.3.78 

 (C) ‰»uÚ©õUP¨£mh E¯º C»õ£ •øÓ. 
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18. Following is the Balance sheet of A Ltd, as on 31st   
March 2015 : 

Liabilities Rs. Assets Rs. 
12,000 shares of   Goodwill 10,000
Rs.10 each 1,20,000 Machinery 90,000
Profit prior to   Furniture 15,000
Incorporation 2,000 Stock 40,000
Bank Overdraft 36,000 Sundry Debtors 22,000
Sundry creditors 30,000 Profit and Loss 

account 11,000

 1,88,000  1,88,000

 B Ltd. took over the assets of A Ltd for Rs.1,20,000 
payable as to half in fully paid shares and half in cash. 
The expenses of liquidation were Rs.3,000. A creditor for 
Rs.5,000 agreed to take shares in B Ltd. The available 
cash was just sufficient to satisfy the claims of creditors. 
Give journal entries in the books of A Ltd and B Ltd. 

 ©õºa 31, 2015 AßøÓ¯ A  {Ö©zvß C¸¨¦{ø»U 
SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

12,000 £[SPÒ JßÖ  |Øö£¯º 10,000

¹. 10 Ãu® 1,20,000 C¯¢vμ[PÒ 90,000
Tmk¸ÁõUPzvØS  AøÓP»ß 15,000
•¢øu¯ C»õ£® 2,000 \μUQ¸¨¦ 40,000
Á[Q ÷©ÀÁøμ £ØÖ 36,000 £Ø£» PhÚõÎPÒ 22,000
£Ø£» PhÜ¢÷uõºPÒ 30,000 C»õ£ |mhU PnUS 11,000

 1,88,000  1,88,000

 B {Ö©® A  {Ö©zvÝøh¯ ö\õzxUPøÍ ¹.1,20,000 
GßÓ ©v¨¤À GkzxU öPõsk AzöuõøP°À £õv 
•ØÔ¾® ö\¾zu¨£mh £[SPÍõPÄ®, «v¨ £õv 
öμõõUP©õPÄ® ö\¾zu •iÄ ö\´ux. Pø»¨¦ ö\»Ä 
¹.3,000 BS®. ¹.5,000 ©v¨ø£U öPõsh J¸ 
PhÜ¢÷uõº B {Ö©zvÀ £[SPøÍ GkzxU öPõÒÍ J¨¦U 
öPõshõº. PhÜ¢÷uõºPÎß ÷Põ›UøPø¯ v¸®£ ö\¾zu 
÷£õx©õÚ AÍÂÀ öμõUP C¸¨¦ EÒÍx. A  {Ö©® 
©ØÖ® B {Ö©zvß HkPÎÀ SÔ¨÷£mk £vÄPøÍz 
u¸P. 
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19. The Balance Sheets of H Ltd. and S Ltd on 31st March 
2016 were as follows : 

Liabilities H Ltd.  S Ltd.  Assets H Ltd. S Ltd. 

10% 
Preference 

    Land and  

Shares of 
Rs.100 each 

–  1,00,000  Building 3,10,000 1,60,000

Equity shares      Machinery 

of Rs.100 each 10,00,000  4,00,000  less 10% 
Depreciation 

2,70,000 1,35,000

General 
Reserve 

1,00,000  50,000  3,000 Shares in 
S Ltd. 

4,50,000 – 

Profit and Loss 
a/c 

    Stock at Cost 2,20,000 1,50,000

Balance on 
01.04.2015 

40,000  30,000  Sundry Debtors 1,55,000 90,000

Profit for 2016 2,00,000  80,000  Cash and Bank 85,000 1,95,000

Creditors 1,50,000  70,000   

      

Total 14,90,000  7,30,000  Total 14,90,000 7,30,000

 H Ltd. acquired 3,000 Equity Shares in S Ltd. on  
1st  October 2015. As on the date of acquisition, H Ltd. 
found that the value of land and buildings and machinery 
of S Ltd should be Rs.1,50,000 and Rs.1,92,500 
respectively. Prepare the Consolidate Balance Sheet of  
H Ltd. and its subsidiary S Ltd. as on 31st March 2016. 

31.03.2016 AßøÓ¯ H {Ö©® ©ØÖ® S {Ö©zvß 
C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ H {Ö©®  S {Ö©®  ö\õzxPÒ H {Ö©® S {Ö©® 

10% •ßÝ›ø© 
£[SPÒ 

    {»® ©ØÖ®  

JßÖ ¹.100 Ãu® –  1,00,000  Pmih[PÒ 3,10,000 1,60,000

ö£õx{ø»¨      10% 
÷u´©õÚzøu  

£[S JßÖ 
¹.100 Ãu® 

10,00,000  4,00,000  PÈzu ¤ÓS 
C¯¢vμ® 

2,70,000 1,35,000

ö£õxUPõ¨¦ 1,00,000  50,000  S {Ö©zvÀ 

3,000 £[SPÒ 

4,50,000 – 
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ö£õÖ¨¦PÒ H {Ö©®  S {Ö©®  ö\õzxPÒ H {Ö©® S {Ö©® 

C»õ£ |mhU 
PnUS 

    \μUQ¸¨¦ 2,20,000 1,50,000

01.04.2015 À 
C¸¨¦  

40,000  30,000  £Ø£» 
PhÚõÎPÒ 

1,55,000 90,000

2016 ® BsiÀ 
C»õ£® 

2,00,000  80,000  öμõUP®, Á[Q 85,000 1,95,000

PhÜ¢÷uõºPÒ 1,50,000  70,000   

      

ö©õzu® 14,90,000  7,30,000  ö©õzu® 14,90,000 7,30,000

01.10.2015 AßÖ S {Ö©zvÀ 3,000 ö£õx{ø»¨ 
£[SPøÍ H {Ö©® Áõ[Q¯x. A¢u ÷uv°À S {Ö©zvÀ 
¹.1,50,000 ö£Ö©õÚ {»®, Pmih[PÐ®, ¹.1,92,500 
ö£Ö©õÚ C¯¢vμ•® C¸¢ux. 31.03.2016 AßÖ  
H {Ö©® ©ØÖ® AuÝøh¯ xøn {Ö©©õÚ 
{Ö©zvÝøh¯ J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£ 
u¯õ›UP. 

20. From the following information of ABC Bank, prepare 
profit and loss account for the year ended 31st March, 
2013 (in 000s) 

Interest on Loans 2,590 Interest of Fixed Deposits 3170

Commission 82 Payment to Employees 540

Discount on Bills 1,060 Interest on Cash Credit 2230

Rent and Taxes 180 Interest on Overdrafts 1540

Directors Fees 30 Auditors Fees 12

Interest on savings bank 
deposits 

680 Postage and Telegrams 14

Printing and Stationery 29 Sundry Charges 17
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 Additional Information : 

 (a) Provide for Contingencies Rs.2,00,000 

 (b) Transfer Rs.15,57,000 to reserves and 

 (c) Transfer Rs. 2,00,000 to central government. 

 ABC Á[Q°ß ¤ßÁ¸® uPÁÀPøÍ öPõsk 
31.03.2013® |õ÷Íõk •i¯UTi¯ C»õ£ |mh PnUøP 
u¯õº ö\´P. (000’ B°μzvÀ) 

Phß «x ö£Ó¨£mh 
Ámi 

2,590 {ø» øÁ¨¦ «uõÚõ 
Ámi 

3170

uμS 82 öuõÈ»õÎPÐUS 
ö\¾zv¯x 

540

Esi¯À «uõÚ 
uÒÐ£i 

1,060 öμõUPU Phß «uõÚ 
Ámi 

2230

ÁõhøP ©ØÖ® Á› 180 Á[Q ÷©ÀÁøμ £ØÖ 
«uõÚ Ámi 

1540

C¯US|º Pmhn® 30 uoUøP¯õÍºPÒ 
Pmhn® 

12

÷\ª¨¦ Á[Q øÁ¨¦ 
«uõÚ Ámi 

680 u£õÀ ©ØÖ® u¢v 14

Aa_ ©ØÖ® 
GÊxö£õ¸Ò 

29 £Ø£» ö\»ÂÚ[PÒ 17

 TkuÀ ÂÁμ[PÒ : 

 (A) Gvº£õμõu JxUS ¹. 2,00,000 

 (B) ¹.15,57,000 ö£Ö©õÚ öuõøP Põ¨¤ØS ©õØÓ 
÷Ásk® 

 (C) ¹. 2,00,000 ö£Ö©õÚ öuõøP ©zv¯ Aμ]ß {vUS 
©õØÓ ÷Ásk®. 

———————— 
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MANAGEMENT ACCOUNTING 
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Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you understand by Management Accounting? 

 ÷©»õsø© PnUQ¯À £ØÔ }Âº ¦›¢x öPõÒÁx GßÚ? 

2. State any two objectives of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍU 

TÖP. 

3. What do you mean by Trend Analysis? 

 ÷£õUS £S¨£õ´Ä £ØÔ }Âº AÔÁx GßÚ? 

4. State any two significance of Ratio analysis. 

 ÂQu £S¨£õ´Âß H÷uÝ® Cμsk •UQ¯zxÁzøuU 

TÖP. 

Sub. Code 
31041/ 
33541 
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5. Define Fund Flow Statement. 

 {v Kmh AÔUøPø¯ Áøμ¯ÖUP. 

6. State any two limitations of Cash Flow Statement. 

 öμõUP Kmh AÔUøP°ß H÷uÝ® Cμsk SøÓ£õkPøÍ 
TÖP. 

7. What is Production Budget? 

 EØ£zv vmh¨£mi¯À GßÓõÀ GßÚ? 

8. What is Zero Base Budgeting? 

 §äâ¯zøu Ai¨£øh¯õP öPõsh vmh£mi¯À GßÓõÀ 
GßÚ? 

9. Define the term Marginal Costing. 

 CÖv{ø» AhUPÂ¯À GÝ® £uzøu Áøμ¯ÖUP. 

10. What is Profit Volume Ratio? 

 C»õ£ AÍÄ ÂQu® GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the advantages of Management 

accounting? 

  ÷©»õsø© PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the nature of Management Accounting. 

  ÷©»õsø© PnUQ¯¼ß A®\[PøÍ ÂÍUSP. 
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12. (a) Compare analysis and interpretation of financial 
statements. 

  {v{ø» AÔUøP°Ýøh¯ £S¨£õ´Ä ©ØÖ® 
ÂÍUPÄøμø¯ J¨¤kP. 

Or 

 (b) Calculate Operating Profit Ratio and Net Profit 
Ratio. 

 Rs.  Rs. 

Sales 2,00,000 Administration expenses 20,000

Gross profit 70,000 Income from investments 22,000

Selling expenses 10,000 Loss due to fire 12,000

  ö\¯ÀÁÈ »õ£ ÂQu® ©ØÖ® {Pμ C»õ£ ÂQu® 
PnUQkP. 

 ¹.  ¹. 

ÂØ£øÚ 2,00,000 {ºÁõPa ö\»ÄPÒ 20,000

ö©õzu C»õ£® 70,000 •u½k Á¸Áõ´ 22,000

ÂØ£øÚ ö\»ÄPÒ 10,000 w Â£zvÀ |mh® 12,000

13. (a) From the following information calculate funds from 
operations.  

 2016 
(Rs.) 

2017 
(Rs.) 

Profit and loss account 25,000 40,000

General Reserve 40,000 45,000

Goodwill 7,000 4,000

Preliminary expenses 5,000 3,000

Provision for depreciation on machinery 10,000 12,000

Refund of Tax – 5,000
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 
QøhUS® {vø¯U PnUQkP 

 2016 
(¹.) 

2017 
(¹.) 

C»õ£|mh PnUS 25,000 40,000
ö£õxUPõ¨¦ 40,000 45,000
|Øö£¯º 7,000 4,000
öuõhUP ö\»ÂÚ[PÒ 5,000 3,000
C¯¢vμ® «uõÚ ÷u´©õÚ JxUS 10,000 12,000
Á¸©õÚÁ› v¸¨¤¯x – 5,000

Or 
 (b) From the following balances you are required to 

calculate the Cash from Operations. 

 2016  
(Rs.) 

2017  
(Rs.) 

 2016 
(Rs.)

2017 
(Rs.) 

Debtors 50,000 47,000 Accrued income 600 750
Bills receivable 10,000 12,500 Income received 
Creditors 20,000 25,000 in advance 300 250
Bills payable 8,000 6,000 Profit made 
Outstanding  during the year 1,30,000
expenses 1,000 1,200  
Prepaid expenses 800 700  
  ¤ßÁ¸® C¸¨¦PÎ¼¸¢x ö\¯À£õkPÎ¼¸¢x 

Qøhzu öμõUPzøu PnUQkP. 

 2016  
(¹.) 

2017  
(¹.) 

 2016 
(¹.) 

2017 
(¹.) 

PhÚõÎPÒ 50,000 47,000 ö£Ó ÷Ási¯ 
ö£ÖuØS›¯  Á¸©õÚ[PÒ 600 750
©õØÖa^mk 10,000 12,500 •ßTmi  
PhÜ¢÷uõºPÒ 20,000 25,000 ö£Ó¨£mh 
ö\¾zxuØS›¯  Á¸©õÚ® 300 250
©õØÖa^mk 8,000 6,000 AÆÁõsiÀ  
öPõk£h   Dmi¯ C»õ£® 1,30,000
÷Ási¯    
ö\»ÂÚ[PÒ 1,000 1,200  
•ßTmi    
ö\¾zv¯    
ö\»ÂÚ[PÒ 800 700  
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14. (a) With the following data for a 60% activity prepare a 

flexible budget for production at 80% and 100% 

activity: 

  Production at 60% - 600 units 

       Rs. 

  Materials    100 per unit 

  Labour    40 per unit 

  Expenses    10 per unit 

  Administrative expenses Rs.30,000 (60% fixed) 

  Factory Expenses Rs.40,000 (40% Fixed) 

  ¤ßÁ¸® 60% ö\¯À£õmiß uPÁÀPøÍU öPõsk 

ö|QÌÄz vmhzøu 80% ©ØÖ® 100%&zvØS u¯õº 

ö\´P. 

  60% EØ£zv°À - 600 A»SPÒ 

       ¹. 

  ‰»¨ö£õ¸Ò Kº A»QØS 100  

  T¼ Kº A»QØS   40  

  ö\»ÂÚ[PÒ Kº A»QØS 10  

  {ºÁõP ö\»ÂÚ[PÒ ¹.30,000 (60% {ø»¯õÚx)  

  Bø»a ö\»ÄPÒ ¹.40,000 (40% {ø»¯õÚx) 

Or 
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 (b) Prepare a production budget of X Ltd., from the 

following information : 

Products Sales as per Sales 

Budget  

(in units) 

Estimated Stock 

(in units) 

  01.07.2017 30.06.2018

A 4,88,000 10,000 12,000 

B 3,75,000 20,000 45,000 

C 6,00,000 50,000 25,000 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x X {Ö©zvß J¸ EØ£zv 

vmh£mi¯ø» u¯õ›UP. 

ö£õ¸ÒPÒ ÂØ£øÚ 
vmh£mi¯¼ß 
£i ÂØ£øÚ 

(A»SPÎÀ) 

Gvº£õºUP¨£k® 
\μUQ¸¨¦  

(A»SPÎÀ) 

  01.07.2017 30.06.2018

A 4,88,000 10,000 12,000 

B 3,75,000 20,000 45,000 

C 6,00,000 50,000 25,000 

15. (a) From the following particulars find out the Break 

Even Point. What will be the selling price per unit if 

Break Even Point is to be brought down to 9,000 

units? 

 Rs. 

Variable cost per unit 75

Fixed expenses 2,70,000

Selling price per unit 100
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£ |mh ©ØÓ 
¦ÒÎø¯ PnUQkP. ÷©¾® C»õ£|mh©ØÓ 
¦ÒÎ¯õÚx 9,000 A»QØS SøÓ²® ö£õÊx J¸ 
A»QØPõÚ ÂØ£øÚ Âø» GßÚ? 

 ¹. 

J¸ A»QØPõÚ ©õÖ® ö\»Ä 75
{ø»¯õÚ ö\»ÂÚ[PÒ 2,70,000
J¸ A»QØPõÚ ÂØ£øÚ Âø» 100

Or 

 (b) You are given the following data for the year 1994 of 
the company. Variable cost Rs.6,00,000; Fixed Cost 
Rs.3,00,000; Sales Rs. 10,00,000 Find  

  (i) P/V ratio  
  (ii) Break Even Point  
  (iii) Profit when sales amounted to Rs.12,00,000  
  (iv) Sales required to earn a profit of Rs.2,00,000. 

  J¸ {Ö©zvß 1994 B® BsiØS›¯ uPÁÀPÒ 
¤ßÁ¸©õÖ : ©õÖ® ö\»Ä ¹.6,00,000; {ø»¯õÚ 
ö\»Ä ¹.3,00,000; ÂØ£øÚ ¹. 10,00,000 PnUQkP. 

  (i) P/V ÂQu® 
  (ii) C»õ£|mh©ØÓ ¦ÒÎ 
  (iii) ÂØ£øÚ¯õÚx ¹.12,00,000 C¸US® ö£õÊx 

C»õ£® 
  (iv) ¹.2,00,000 C»õ£® Dmh ÷uøÁ¨£k® 

ÂØ£øÚ. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the difference between Management 
Accounting and Cost Accounting? 

 ÷©»õsø© PnUQ¯¼ØS® AhUPÂø» PnUQ¯¼ØS® 
Cøh÷¯ EÒÍ ÷ÁÖ£õmøhU TÖP. 



D–4624 
  8

17. Assuming that a firm has owners’ Equity of Rs.1,00,000, 

the ratio of firm are 

 Current Debts to Total Debts 0.40 

 Total Debts to Owner’s Equity 0.60 

 Fixed assets to Owner’s Equity 0.40 

 Total Assets Turnover  2 times 

 Inventory Turnover  8 times  

 Prepare the Balance Sheet with as many information as 

possible. 

 J¸ {ÖÁÚ©õÚx uÚx ö\õ¢u •u»õP ¹.1,00,000zøu 

öPõskÒÍx. ÷©¾® A¢{ÖÁÚzvß ÂQu[PÒ 

¤ßÁ¸©õÖ  

 ö©õzu PhÝUS |h¨¦ PhßPÒ 0.40 

 E›ø©¯õÍº {vUS ö©õzu PhßPÒ 0.60 

 E›ø©¯õÍº {vUS {ø»aö\õzxUPÒ 0.40 

 ö©õzu ö\õzxUPÎß _ÇØ] 2 uhøÁPÒ 

 \μUQ¸¨¦ _ÇØ]   8 uhøÁPÒ 

 GÆÁÍÄ uPÁÀPøÍ uμ •i²÷©õ u¢x C¸¨¦{ø»U 

SÔ¨¤øÚz u¯õ›UP. 



D–4624 
  9

18. Prepare a Cash flow statement from the following 
information Balance Sheet 

Balance Sheet 

Liabilities 01.01.17 31.12.17 Assets 01.01.17 31.12.17

 Rs. Rs.  Rs. Rs. 

Current   Cash 40,000 44,400

liabilities 30,000 32,000 Accounts 

Bonds payable 22,000 22,000 receivable 10,000 20,700

Capital stock 35,000 43,500 Inventories 15,000 15,000

Retained  Land 4,000 4,000

earnings 15,000 19,500 Business 

Accumulated  Premises 20,000 16,000

depreciation 5,000 2,800 Plant and 

  Equipment 15,000 17,000

  Patents and 

  Trademarks 1,000 900

  Discount on 

  Bonds 2,000 1,800

 1,07,000 1,19,800  1,07,000 1,19,800

 Additional information: 

 (a) Income for the period was Rs.10,000. 

 (b) A building that costs was Rs.4,000 and which had a 
book value of Rs.1,000 was sold for Rs.1,400. 

 (c) The depreciation charges for the period was Rs.800. 

 (d) There was a Rs.5,000 issue of capital stock. 

 (e) Cash dividend of Rs.2,000 and a stock dividend for 
Rs.3,500 were declared. 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x öμõUP Kmh AÔUøPø¯ 
u¯õ›UP : 

C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ 01.01.17 31.12.17 ö\õzxUPÒ 01.01.17 31.12.17

 ¹. ¹.  ¹. ¹. 

|h¨¦  öμõUP® 40,000 44,400

ö£õÖ¨¦PÒ 30,000 32,000 Áμ÷Ási¯ 

ö\¾zu¨£h PnUSPÒ 10,000 20,700

÷Ási¯ \μUQ¸¨¦ 15,000 15,000

£zvμ[PÒ 22,000 22,000 {»® 4,000 4,000

‰»uÚ \μUS 35,000 43,500 ÁoP  

uUPøÁzu ÁÍõP® 20,000 16,000

Á¸©õÚ[PÒ 15,000 19,500 ö£õÔ ©ØÖ®

SÂzu uÍÁõh[PÒ 15,000 17,000

÷u´©õÚ® 5,000 2,800 ¦øn²›ø©

 ©ØÖ® ÁoP

 SÔ±kPÒ 1,000 900

 £zvμ® «uõÚ

 uÒÐ£i 2,000 1,800

 1,07,000 1,19,800  1,07,000 1,19,800

 TkuÀ uPÁÀPÒ : 

 (A) AUPõ»zvØPõÚ Á¸©Ú® ¹.10,000 

 (B) ¸.4,000 AhUPÂø» ö£Ö©õÚ Pmihzvß ¦zuP 
©v¨¦ ¹.1,000. CøÁ ¹.1,400US ÂØP¨£mhx 

 (C) AUPõ»zvÀ Â»UP¨£mh ÷u´©õÚ® ¹.800 

 (D) ‰»uÚ \μUS ¹.5,000 öÁÎ°h£mi¸¢ux 

 (E) ¹.2,000 öμõUP©õPÄ® ¹.3,500 \μUPõPÄ® 
£[Põuõ¯® ÷Põμ¨£mhx. 
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19. A newly started company wishes to prepare cash budget 

from January. Prepare Cash Budget for the first six 

months from the following estimated revenue and 

expenses. 

    Overheads 

Month Total 

Sales 

Materials Wages Production Selling and 

Distribution

 Rs. Rs. Rs. Rs. Rs. 

January 20,000 20,000 4,000 3,200 800 

February 22,000 14,000 4,400 3,300 900 

March 28,000 14,000 4,600 3,400 900 

April 36,000 22,000 4,600 3,500 1,000 

May 30,000 20,000 4,000 3,200 900 

June 40,000 25,000 5,000 3,600 1,200 

 Cash balance on 1st January was Rs. 10,000. A new 

machinery is to be installed at Rs.20,000 on credit, to be 

repaid by two equal installments in March and April. 

Sales commission @ 5% on total sales is to be paid within 

a month of following actual sales. Rs.10,000 being the 

amount of 2nd call may be received in March. Share 

premium amounting to Rs.2,000 is also obtainable with 

the 2nd call. 

  Period of credit allowed by suppliers  2 months 

  Period of credit allowed to customers  1 month 

  Delay in payment of overheads 1 month 

  Delay in payment of wages 2
1  month 

 Assume cash sales to be 50% of total sales. 
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 J¸ ¦vuõP Bμ®¤UP¨£mh {Ö©©õÚx áÚÁ› ©õuzvÀ 
C¸¢x öμõUP vmh¨£mi¯ø» u¯õ›UP Â¸®¤¯x. 
RÌUPsh Gvº£õºUP¨£k® Á¸Áõ´ ©ØÖ® 
ö\»ÂÚ[PÎ¼¸¢x •uÀ BÖ ©õuPõ»zvØS öμõUP 
vmh¨£mi¯ø» u¯õ›UP. 

    ÷©Øö\»ÄPÒ 

©õu®  ö©õzu 
ÂØ£øÚ 

‰»¨ö£õ¸ÒPÒ T¼ EØ£zv ÂØ£øÚ 
©ØÖ® 

£Qº¢uÎ¨¦

 ¹. ¹. ¹. ¹. ¹. 

áÚÁ› 20,000 20,000 4,000 3,200 800 

¤¨μÁ› 22,000 14,000 4,400 3,300 900 

©õºa 28,000 14,000 4,600 3,400 900 

H¨μÀ 36,000 22,000 4,600 3,500 1,000 

÷© 30,000 20,000 4,000 3,200 900 

áúß 40,000 25,000 5,000 3,600 1,200 

 áÚÁ› 1 AßÖ øP°¾ÒÍ öμõUP C¸¨¦ ¹.10,000, 
¹.20,000 ö£Ö©õÚ J¸ ¦v¯ C¯¢vμ® PhÝUS Áõ[Q 
{ÖÁ¨£mhx. AzöuõøP¯õÚx ©õºa ©ØÖ® H¨μÀ 
©õu[PÎÀ C¸ \© uÁønPÍõP ö\¾zu ÷Ásk®. 
ö©õzu ÂØ£øÚ°À 5% ÂØ£øÚ PÈÄ PnUQh¨£mk 
ÂØ£øÚ |h¢u Akzu ©õuzvÀ ö\¾zu ÷Ásk®. 
¹.10,000 ö£Ö©õÚ Cμshõ® AøÇ¨¦ öuõøP ©õºa 
©õuzvÀ ö£Ó ÷Ásk®. C¢u Cμshõ® AøÇ¨¦ 
öuõøP÷¯õk ¹.2,000 ö£Ö©õÚ £[S •øÚ©•® ö£Ó 
÷Ásk®. 

  \μUPÎz÷uõμõÀ ÁÇ[P¨£mh Phß Põ»®  2 ©õu[PÒ 

  ÁõiUøP¯õÍ¸US ÁÇ[P¨£mh Phß Põ»® 1 ©õu® 

  ÷©Øö\»ÄPøÍ ö\¾zxÁuØPõÚ Põ»® 1 ©õu® PÈzx 

  T¼ø¯ ö\¾zxÁuØPõÚ Põ»® 2
1  ©õu® PÈzx 

 ö©õzu ÂØ£øÚ°À 50% öμõUP ÂØ£øÚ GÚ öPõÒP. 
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20. A radio manufacturing company finds that while it cost 
Rs.6.25 to make each component X 2730, the same is 
available in the market at Rs.4.85 each, with an 
assurance of continued supply. The breakdown of cost is: 

Particulars Rs. (in each)

Materials 2.75

Labour 1.75

Other variables 0.50

Depreciation and other fixed cost 1.25

Total 6.25

 Should you make or buy? 

 J¸ ÷μi÷¯õ EØ£zv P®ö£Û¯õÚx AuÝøh¯ X 2730 
GÝ® JÆöÁõ¸ £õP[PøÍ EØ£zv ö\´ÁuØS ¹.6.25 
ö\»ÁÈUQÓx. BÚõÀ C¢u £õP©õÚx ¹.4.85 Ãu® 
\¢øu°À öuõhºa]¯õÚ AÎ¨¤ß ö£¯›À ÂØ£øÚUS 
EÒÍx. ö\»Ä ÂÁμ[PÒ ¤ßÁ¸©õÖ 

ÂÁμ[PÒ ¹. (Kº 
A»S) 

‰»¨ö£õ¸Ò 2.75
EøÇ¨¦ 1.75
Cuμ ©õÖ£õmk ö\»Ä 0.50
÷u´©õÚ® ©ØÖ® Cuμ {ø»¯õÚ 
ö\»ÂÚ[PÒ 

1.25

ö©õzu® 6.25

 £õP[PøÍ EØ£zv ö\´¯ ÷Ásk©õ AÀ»x Áõ[P 
÷Ásk©õ Gß£øu TÖP. 

—————— 
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Time : Three hours  Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is E-Commerce? 

2. What are the benefits of E-Commerce? 

3. What is Corporate Purchasing? 

4. Write EIP. 

5. Define UDP. 

6. Write examples of Internet Service provider. 

7. State Online marketing. 

8. What is difference between CRM and E-CRM? 

9. What are all the phase involve in the Supply chain?  

10. State B2C. 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the benefits of E-Commerce. 

Or 

 (b)  Describe the types of E-Commerce. 

12. (a) Explain the development of E-Commerce stags. 

Or 

 (b)  Briefly explain uniform Resource Locator.  

13. (a) What are all the steps involved in Home Page 

Creation? 

Or 

 (b)  Explain HTTP. 

14. (a) Explain the TCP/IP. 

Or 

 (b)  Describe the CRM process. 

15. (a) Explain the components of Electronic SCM. 

Or 

 (b)  Explain the features of knowledge Management 

Tools. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain E-business Model. 

17. Explain the importance in using XML and merits and 
demerits of XML. 

18. What is online marketing? Explain advantages and 
disadvantages of online marketing. 

19. Explain the wireless application protocol. 

20. Describe method of payments online. 

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Research. 

2. What do you mean by Social Science Research? 

3. Define hypothesis. 

4. State Research design. 

5. What is primary data? 

6. Define Research Problem. 

7. What do you mean by snowball sampling method? 

8. What is Research Report? 

9. Define Data. 

10. What is tabulation? 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the types of Research. 

Or 

 (b)  Describe criteria of good research. 

12. (a) Explain the need for Research Design. 

Or 

 (b)  What are all the steps involved in sample design?  

13. (a) Explain the methods of data collection. 

Or 

 (b)  Describe the classification of scaling. 

14. (a) Explain the types of Interview methods. 

Or 

 (b)  Explain the observation method. 

15. (a) Describe the Research Report. 

Or 

 (b)  Explain the advantages and disadvantages of 

questionnaire. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain Research process in flowchart. 

17. Explain the types of hypothesis. 

18. Describe the classification of research design. 

19. What is chi-square test? Explain its significant in 
statistical analysis. 

20. Describe : 

 (a) Editing of data  

 (b) Footnotes and Bibliography 

 (c) Central Tendency. 

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Explain the payee of a cheque. 

2. What is a letter of Credit? 

3. What is a Wrong Entry? 

4. Define ‘General-crossing’. 

5. Write short not on “Order cheque”. 

6. Define “Endorsement”. 

7. What is ‘Red clause letter of Credit’? 

8. Define risk? What are the classifications of risk? 

9. What is insurance? 

10. What is Insurance Ombudsman? 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Can a money lender he called a banker? 

Or 

 (b)  Give a brief account of the deduction scheme (T.D.S) 
which has been extended to a fixed deposit? 

12. (a) What is the proper function of a pass book 
accounting to sir john Paget? 

Or 

 (b)  Distinguish between general crossing and special 
crossing. 

13. (a) Can a customer stop payment of a cheque and draft? 

Or 

 (b)  Give two examples for negligence under remote 
grounds. 

14. (a) Write brief note on Lease Finance’. 

Or 

 (b)  Distinguish between dynamic risk and static risk. 

15. (a) What is difference between insurance and 
assurance? 

Or 

 (b)  Explain the various type of claim management 
insurance. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What is banker's lien? When can he exercise such a lien? 

17. Draw a fixed deposit and the main features. 

18. Discuss the legal position of a pass book. 

19. Bring out clearly the significance of ‘Not Negotiable  
Crossing’ and ‘A/c payee crossing’. 

20. Write short notes on: 

 (a) Fundamental risk. 

 (b) Particular risk. 

 (c) Property risk. 

———————— 


